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Question Number : 1 Question Id : 64635023882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635093739, 1
64635093740, 2

64535093741, 3
645350393742, 4

Question Number : 1 Question Id : 64635023882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535093739, 1
64535033740, 2
E4E35092741. 2
64535092742, 4

Question Number : 2 Question Id : 64635023883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535093742 1
E4E35093744. 2
B4535093745. 3
64535093746, 4



Question Number : 2 Question Id : 64635023883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535093743, 1
645350393744, 2
64535093745, 3
EAE3509374E. 4

Question Number : 3 Question Id : 64635023884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350393747, 1
64535093748, 2
E4E35093749. 3
E4E350393750. 4

Question Number : 3 Question Id : 64635023884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol eaaer &1 19 =3faa g Fetaiga | & R 3 27

(1)  =FF (FHEeH) (2) =t g9H (FerERie)
(3)  HIW W AT (4) il 1 S
Options:

64535093747, 1
645350393748, 2
64535093749, 3
E4E35033750. 4

Question Number : 4 Question Id : 64635023885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

4535093751, 1
64535093752 2
64535033753 2
64535033754, 4

Question Number : 4 Question Id : 64635023885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64635093752,

E4E35093753.
64535093754,
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Question Number : 5 Question Id : 64635023886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

645350393755, 1
645350393756, 2
E4E3503375Y. 3
EAE350393758. 4

Question Number : 5 Question Id : 64635023886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535093755, 1
64535033756, 2
48350392757, 2
4535092758 4

Question Number : 6 Question Id : 64635023887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

645350937559, 1
64535093760, 2
645350393761, 3
E45350937E2. 4

Question Number : 6 Question Id : 64635023887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350937559, 1
645350393760, 2
64535093761, 3
EAEZ5093762. 4

Question Number : 7 Question Id : 64635023888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350393763, 1
64535093764, 2
E4E350393765. 3
EAE3509376E6. 4

Question Number : 7 Question Id : 64635023888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35093763. 1
64535093764, 2
645350393765, 3
E453509376E. 4

Question Number : 8 Question Id : 64635023889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535093767, 1
EAE3509376E. 2
E4E35093769. 3
BAE35093770. 4

Question Number : 8 Question Id : 64635023889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE3509376Y. 1
64535093768, 2
645350937645, 3
645350393770, 4

Question Number : 9 Question Id : 64635023890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535093771, 1
64535093772 2
64535033773 2
64535033774, 4

Question Number : 9 Question Id : 64635023890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350937711
64535093772 2
645350393773, 3
EAE35093774. 4

Question Number : 10 Question Id : 64635023891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

6453503937751
645350393776, 2
E4E35093777. 3
EAE350393778. 4

Question Number : 10 Question Id : 64635023891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535093775 1
64535093776, 2
64535093777, o
64535033778, 4

Sub-Section Number: 2
Sub-Section Id: 6463501178
Question Shuffling Allowed : Yes

Question Id : 64635023892 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635023893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35093775. 1
EAE350393780. 2
E4E35093781. 3
64535093782, 4

Question Number : 12 Question Id : 64635023894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350393783, 1
E4E350393784. 2
EAE350393785. 3
EAE35093786. 4

Question Number : 13 Question Id : 64635023895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535093787, 1
64535092788, 2
64535033789, 2
64535033730, 4

Question Number : 14 Question Id : 64635023896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35093791. 1
EAE3503937392. 2
645350937383, 3
6453503937394, 4

Question Number : 15 Question Id : 64635023897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535093795, 1
E4E35032796. 2
645350923797, 5
64535092798, 4

Question Id : 64635023892 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension
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Sub questions

Question Number : 11 Question Id : 64635023893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093779,
64535093780,
4835093781,
E4E35093782.
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Question Number : 12 Question Id : 64635023894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A TEAIE 0 =001 § Al Saahi gl 61 AR Sme A9 gan 2?

(1) AP foem = (2)  ufeEar =

(3)  BH = (4) ¥e-Aq =0y



Options:

64535093783, 1
48350392734, 2
E4E350927E5. 2
64535092756, 4

Question Number : 13 Question Id : 64635023895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535093787, 1
64535092788, 2
64535033789, 2
64535033730, 4

Question Number : 14 Question Id : 64635023896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35093791. 1
EAE3503937392. 2
645350937383, 3
6453503937394, 4

Question Number : 15 Question Id : 64635023897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“HIAE | Hel 21 A%l & afe

(1) aFE % S § fwee @

(2)  AAFIE IS O FESER U S
@)  wegdhiE YR T2 A F

@) e @ e 9 |

Options:

64535093795, 1
645350923796, 2
64535092797, 5
64535033798, 4

Sub-Section Number: 3
Sub-Section Id: 6463501179
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635023898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

645350937399, 1
E4E35093800. 2
E4E350393801. 3
E4535093802. 4

Question Number : 16 Question Id : 64635023898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535093799, 1
4835092800, 2
4535092801, 2
64535092802, 4

Question Number : 17 Question Id : 64635023899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
435033503 1

E4E35093804. 2
E4E350393805. 3
E4E35093806. 4

Question Number : 17 Question Id : 64635023899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4525092803 1

E4E350393804. 2
E4535093805. 3
E4535093806. 4



Question Number : 18 Question Id : 64635023900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635093507, 1
E4E35092508. 2
E4EZE092509. 2
4235092510, 4

Question Number : 18 Question Id : 64635023900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093807, 1
E4E35092808. 2
E4535092209. 5
64535092810, 4

Question Number : 19 Question Id : 64635023901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535093511, 1

E4E35093812. 2
E4E35093813. 3
E4535093814. 4

Question Number : 19 Question Id : 64635023901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35093811. 1
E4E35093812. 2
64535093813, 3
645350393814, 4

Question Number : 20 Question Id : 64635023902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535093815, 1
645350393816, 2
64535093817, 3
E4EZ5093815. 4



Question Number : 20 Question Id : 64635023902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535093815, 1
E4E35039381E6. 2
E4E350393817. 3
E45350938158. 4

Question Number : 21 Question Id : 64635023903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535093815, 1
64535093820, 2
645350393821, 3
EAE35093822. 4

Question Number : 21 Question Id : 64635023903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

645350935819, 1
E4E35093820. 2
E4E35093821. 3
BAE35093822. 4



Question Number : 22 Question Id : 64635023904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E35093823. 1
64535093824, 2
645350393825, 3
E453509382E6. 4

Question Number : 22 Question Id : 64635023904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535093823, 1
64535033824, 2
64835092825 2
4535092826, 4

Question Number : 23 Question Id : 64635023905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

645350393827, 1
E4E3509382E8. 2
EAE35093829. 3



EAE350393830. 4

Question Number : 23 Question Id : 64635023905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

645350393827, 1
64535093828, 2
EAEZ5093829. 3
E4E35093820. 4

Question Number : 24 Question Id : 64635023906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

645350393831, 1
64535093832, 2
E4E350393833. 3
E4E35093824. 4

Question Number : 24 Question Id : 64635023906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535093331 1

E4EZ5032832. 2

E4B250338533. 2

6453503358534 4

Question Number : 25 Question Id : 64635023907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350393835, 1
E4E350393836. 2
EAE350393837. 3
E4E35093838. 4

Question Number : 25 Question Id : 64635023907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535093835, 1
64535033836, 2
64535033837, 2
E4E350928328. 4

Question Number : 26 Question Id : 64635023908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
No Musicians are Japenese

All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35093839. 1
64535093840, 2
64535093841, 3
645350393842, 4

Question Number : 26 Question Id : 64635023908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535093839, 1
E4E35092840. 2
4535092841, =2
64535092842, 4

Question Number : 27 Question Id : 64635023909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535093843, 1
E4E35092844. 2
645350923245, 5
64535092846, 4



Question Number : 27 Question Id : 64635023909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35093543. 1

E4E35093844. 2
E4E35093845. 3
E4535093846. 4

Question Number : 28 Question Id : 64635023910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35093847. 1
64535093848, 2
645350393849, 3
645350393850, 4

Question Number : 28 Question Id : 64635023910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gl ¥ fada aife o aven 2 cfes o e @ AF 21 S gefiv 8 dan 2 iR Al o
Diel 2| BH T | wed el A 27

(1) ™

@ =
(3) ferdia
CV

Options:

48350935347, 1
4535092848, 2
64535092849, o
64535092850 4

Question Number : 29 Question Id : 64635023911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35093851. 1
E4535093852. 2
64535093853, 3
645350393854, 4

Question Number : 29 Question Id : 64635023911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
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(1) A4 (2) wuafey
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Options:
64235092551, 1

E4E35093852. 2
64535093853, 3
64535093854, 4

Question Number : 30 Question Id : 64635023912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350393855, 1
E4E350393856. 2
EAE350393857. 3
E4535093858. 4

Question Number : 30 Question Id : 64635023912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

54535093855, 1
645350393856, 2
64535093857, 3
E4EZ5093858. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501180
Question Shuffling Allowed : Yes

Question Id : 64635023913 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635023914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4535093859. 1
64535093860, 2



E4E350393861. 3
EAE35093862. 4

Question Number : 32 Question Id : 64635023915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35093863. 1
64535093864, 2
645350393865, 3
E453509386E. 4

Question Number : 33 Question Id : 64635023916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

64535093867, 1
645350393868, 2
64535093869, 3
EAEZ50393870. 4

Question Number : 34 Question Id : 64635023917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535093871, 1
64535093872, 2
EAEZ5093873. 3
E4E35093874. 4

Question Number : 35 Question Id : 64635023918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

648350938751
E4E35092E7E. 2
64535093877, o
645350923878, 4

Question Id : 64635023913 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535093859, 1
64535033860, 2
64535033861, =
4835092862 4

Question Number : 32 Question Id : 64635023915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535093863, 1
4535092864, 2
64535092565, 5
64535092866, 4

Question Number : 33 Question Id : 64635023916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535093867, 1
4835092868, 2
4535092869, 2
64535092870, 4

Question Number : 34 Question Id : 64635023917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535093871, 1
64535033872, 2
48350928732 2
4535092874 4

Question Number : 35 Question Id : 64635023918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535093875, 1
64535033876, 2
64535033877, 2
E4E350392878. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501181
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635093879, 1

E4E350393880. 2
E4E35093881. 3



EAE35093882. 4

Question Number : 36 Question Id : 64635023919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4EZE092579.

EAEZ5093880.
E4E35093881.
BAE35093882.

[ N

Question Number : 37 Question Id : 64635023920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35093883. 1
64535093884, 2
64535093885, 3
645350393886, 4

Question Number : 37 Question Id : 64635023920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
4525092883 1

E4E35093884. 2
E4535093885. 3
E4E535093886. 4

Question Number : 38 Question Id : 64635023921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35093887. 1
64535093888, 2
E4535093889. 3
645350393830, 4

Question Number : 38 Question Id : 64635023921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093887, 1
4835092888, 2
4535092889, 2
64535092890, 4

Question Number : 39 Question Id : 64635023922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503938391, 1
64535093832, 2
E4E3503938393. 3
E4E35093894. 4

Question Number : 39 Question Id : 64635023922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

45350935891, 1
64535092892, 2
64535033893, =
64535033894, 4

Question Number : 40 Question Id : 64635023923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E3503938595. 1
EAE350938396. 2
E4E35093897. 3



EAE35093898. 4

Question Number : 40 Question Id : 64635023923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535093895, 1
64535033896, 2
64535033897, 2
E4E35092898. 4

Question Number : 41 Question Id : 64635023924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B453509385945. 1
645350393300, 2
645350393301, 3
E4E3503938902. 4

Question Number : 41 Question Id : 64635023924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535093899, 1
64535092900 2
64535033301, =
64535033302, 4

Question Number : 42 Question Id : 64635023925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

E4E35093503. 1
64535022904, 2
64535033905, =
64535033306, 4

Question Number : 42 Question Id : 64635023925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535093903, 1
E4E35093904. 2
E4E35093305. 2
64535092906, 4

Question Number : 43 Question Id : 64635023926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E350933907. 1
645350933908, 2
6453503933909, 3
645350933910, 4

Question Number : 43 Question Id : 64635023926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

E4535093907. 1
64535092908, 2
64535033309, =
64535033310 4

Question Number : 44 Question Id : 64635023927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35093911. 1
E4E350393912. 2
E4535093913. 3
64535093914, 4

Question Number : 44 Question Id : 64635023927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64535093911, 1
64535033912, 2
64535033313 2
64835092914 4

Question Number : 45 Question Id : 64635023928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64535093915, 1
E4E35092916. 2
64535092917, 5
64535092918, 4

Question Number : 45 Question Id : 64635023928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64535093915, 1
E4E35092916. 2
64535092917, 5
64535092918, 4

Question Number : 46 Question Id : 64635023929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535093919, 1
E4E35093920. 2
E4E35093921. 3
BAE35093922. 4



Question Number : 46 Question Id : 64635023929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
45250929159, 1

E4E35093920. 2
E4E35093921. 3
BAE35093922. 4

Question Number : 47 Question Id : 64635023930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535093922, 1
E4E35093924. 2
E4E35093925. 3
BAE35093926. 4

Question Number : 47 Question Id : 64635023930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

B4535093923. 1
645350393924, 2
64535093925, 3
E4E35093926. 4

Question Number : 48 Question Id : 64635023931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
6462350939271
64635093925, 2

645350393929, 3
645350393920, 4

Question Number : 48 Question Id : 64635023931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
B4R 033927.

EAE3509392E.
EAE35093929.
E4E35093920.

[ N

Question Number : 49 Question Id : 64635023932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535093931, 1
64535033332, 2
648350939322 2
E4E35092924 4



Question Number : 49 Question Id : 64635023932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4535093951, 1
64535092932, 2
64535033933 2
64535033934 4

Question Number : 50 Question Id : 64635023933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E3503938935. 1
E4E350393936. 2
B4E35093937. 3
64535093928, 4

Question Number : 50 Question Id : 64635023933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ferferfiga | 9 f9-o1 Fu gaa fGwE o 98 =1 8 s s 27
(1)  wrefae SEIEH] 6 ~gHad 3T
(2)  WrHaH SEIEA] F AT T F o 3w
@)  wepfas goreE =g uan a3 wisss 6 difewi % fog sueea @)
(4) A9 vl gEeAl w1 v f o difedl % fag adam s
Options:
64635093935, 1
64635093936, 2

64535093937, 3
E4E35093928. 4

PART 11 Germarn

Section Id : 646350488
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 6463501182
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635023934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wie geht das Sprichwort weiter ? “Wie gewonnen, so "
(1) gesonnen
(2) zerronnen
(3) geronnen

(4) wversonnen

Options:
64535093939, 1
64535033940, 2



E4E35093941. 3
B4E3509394%. 4

Question Number : 51 Question Id : 64635023934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Wie geht das Sprichwort welter ? “Wie gewonnen, so
(1) gesonnen
(2) zerronnen
(3) geronnen

(4) wversonnen

Options:

64535093939, 1
64535033340, 2
64535033341, 2
E4E35092942. 4

Question Number : 52 Question Id : 64635023935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche der folgenden Aussagen stimmt nicht ?

(1) Konrad Adenauer war der erste deutsche Bundeskanzler.
(2) Basel liegt am Rhein.
(3) Wien ist kein Stadtstaat.

(4) Frankreich liegt im Westen der Schweiz.

Options:

64535093943, 1
64535033944 2
64535033345 2
E4E35092946. 4

Question Number : 52 Question Id : 64635023935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Aussagen stimmt nicht ?

(1) Konrad Adenauer war der erste deutsche Bundeskanzler.
(2) Basel liegt am Rhein.

(3) Wien ist kein Stadtstaat.

(4) Frankreich liegt im Westen der Schweiz.

Options:

64535093943, 1
E4E35093944 2
E4E35092945 =2
64535092946, 4

Question Number : 53 Question Id : 64635023936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Aussage st richtig ?

(1) Trotz des einsetzenden Regens ging die Arbeit weiter.
(2) Trotz des einsetzenden Regens gingen die Arbeit weiter.
(3) Obwohl des einsetzenden Regens ging die Arbeit weiter.

(4) Obwohl des einsetzenden Regens gingen die Arbeit weiter.

Options:
4535093547, 1

E4E35093948. 2
E4E35093949. 3
64535093950, 4

Question Number : 53 Question Id : 64635023936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welche Aussage 1st richtig ?

(1) Trotz des einsetzenden Regens ging die Arbeit weiter.
(2) Trotz des einsetzenden Regens gingen die Arbeit weiter.
(3) Obwohl des einsetzenden Regens ging die Arbeit weiter.

(4) Obwohl des einsetzenden Regens gingen die Arbeit weiter.

Options:
64535093947, 1
64535033348, 2

E4E250339459. 5



E4E350393950. 4

Question Number : 54 Question Id : 64635023937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Der Film handelt einem Paar, das sich sehr liebt.
(1) von
(2) mit
(3) um
(4) tiber

Options:

64535093951, 1
64535033352, 2
64535033353 2
E4E350392954. 4

Question Number : 54 Question Id : 64635023937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Der Film handelt einem Paar, das sich sehr liebt.
(1) von
(2) mit
(3) um
(4) tber

Options:

64535093951, 1
64535093952, 2
64535092952,
64535033954, 4

Question Number : 55 Question Id : 64635023938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Zwel Stunden habe ich mich der Konzertkasse angestellt, aber
kurz vor mir waren die Karten ausverkauft.

(1) am
(2) an
(3) um
(4) in

Options:

64535093955, 1
64535033356, 2
E4E35093957. 2
64535092958, 4

Question Number : 55 Question Id : 64635023938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Zwel Stunden habe ich mich der Konzertkasse angestellt, aber
kurz vor mir waren die Karten ausverkauft.

(1) am

(2) an

(3) um

(4) in

Options:

64535093955, 1
64535033356, 2
64835093957 2
E4E35093958. 4

Question Number : 56 Question Id : 64635023939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wer sich freut, 1st :
(1) traurig
(2) fréhlich
(3) freundlich
(4) freudig

Options:
E4E350393559. 1



E4E350393960. 2
E4E535093961. 3
EAE3509396%. 4

Question Number : 56 Question Id : 64635023939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Wer sich freut, ist :
(1) traurig
(2) frohlich
(3) freundlich

(4) freudig

Options:

64535093959, 1
64535033360, 2
E4E35092961. 2
45350939362, 4

Question Number : 57 Question Id : 64635023940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An Tagen haben wir keinen Zugang zu Internet.

(1) manchen
(2) manche
(3) mancher

(4) manchem

Options:

4835093963, 1
64535092964, 2
64535092965, o
64535033966, 4

Question Number : 57 Question Id : 64635023940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



An Tagen haben wir keinen Zugang zu Internet.

(1) manchen
(2) manche
(3) mancher

(4) manchem

Options:

45350935963 1
64535022964, 2
64535093965, o
64535033366, 4

Question Number : 58 Question Id : 64635023941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche der folgenden Laute sind stimmlose Frikative ?

(1) [, [s], [x], [h]
(2) [bl, [t], [d], [k]
(3 [pl, [d], [gl, [v]
(4) [2], [m], [ts], [n]

Options:

4535093967, 1
64535092968, 2
64535033969, =
64535033370, 4

Question Number : 58 Question Id : 64635023941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche der folgenden Laute sind stimmlose Frikative ?
(1) [, [s], [x], [h]
(2) [bl, [t], [d], [Kk]
(3 [pl, [d], [g], [v]
(4) [z], [ml, [ts], [n]

Options:

4535093967, 1
64535033968, 2
64535033369, 2



EAE35093970. 4

Question Number : 59 Question Id : 64635023942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Welcher Staat grenzt nicht an Osterreich ?
(1) Kroatien

(2) die Slowakei

(3) Slowenien

(4) Tschechien

Options:

64535093971, 1
E4E35092972. 2
645350923972, 5
64535092974, 4

Question Number : 59 Question Id : 64635023942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welcher Staat grenzt nicht an Osterreich ?
(1) Kroatien

(2) die Slowakei

(3) Slowenien

(4) Tschechien

Options:

64535093971, 1
4835092972 2
4535092972 2
64535022974, 4

Question Number : 60 Question Id : 64635023943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wieviele Bundeslander hat Osterreich ?

(1) 6 Bundeslander
(2) 7 Bundeslander
(3) 8 Bundeslander

(4) 9 Bundeslander



Options:

64535093975, 1
4835093976, 2
E4E35093977. 2
64535092978, 4

Question Number : 60 Question Id : 64635023943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wieviele Bundeslander hat Osterreich ?

(1) 6 Bundeslander
(2) 7 Bundeslander
(3) 8 Bundeslander

(4) 9 Bundeslander
Options:
64635093975 1
64535093976, 2
EdE35092977. 2
45350934975, 4

Question Number : 61 Question Id : 64635023944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Dynastie kann mit Osterreich assoziiert werden ?

(1) Jagiellonen
(2) Habsburg

(3) Anjou
(4 Wittelsbach

Options:

64535093979, 1
E4E35092920. 2
E4E35093981. =2
64535092982, 4

Question Number : 61 Question Id : 64635023944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Dynastie kann mit Osterreich assoziiert werden ?

(1) Jagiellonen
(2) Habsburg
(3) Anjou

(4) Wittelsbach

Options:

64535093979, 1
E4E35092920. 2
64535092981, 5
64535092982, 4

Question Number : 62 Question Id : 64635023945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Seit wann ist Osterreich eine Republik ?

(1) Seit 1888
(2) Seit 1914
(3) Seit 1918
(4) Seit 1945

Options:

64535093983, 1
64535033334, 2
64835093985 2
64535092956, 4

Question Number : 62 Question Id : 64635023945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Seit wann ist Osterreich eine Republik ?

(1) Seit 1888
(2) Seit 1914
(3) Seit 1918
(4) Seit 1945

Options:
64535093983, 1
645350339384, 2

645350393985, 3



EAE350393986. 4

Question Number : 63 Question Id : 64635023946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wozu braucht man Kondimente ?

(1) zum Heiraten
(2) zum Bezahlen
(3) zum Schwimmen

(4) zum Wirzen

Options:

64535093987, 1
E4E35093988. 2
6453509239589, 5
64535092990, 4

Question Number : 63 Question Id : 64635023946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wozu braucht man Kondimente ?

(1) zum Heiraten
(2) zum Bezahlen
(3) zum Schwimmen

(4) zum Wiirzen

Options:

64535093987, 1
4835093988, 2
4535093989 2
64535092990, 4

Question Number : 64 Question Id : 64635023947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Was 18t Kreuzreim ?

(1) ein Reim nach dem Mustera-b-b-a
(2) ein Reim nach dem Mustera-b-c-¢c-b-a
(3) ein Reim nach dem Mustera-b-a-b

(4) ein Reim nach dem Mustera-a-b-b



Options:

64535093991, 1
E4E35093992. 2
E4E35093992. =2
64535022994, 4

Question Number : 64 Question Id : 64635023947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was 1st Kreuzreim ?
(1) ein Reim nach dem Muster a-b-b-a
(2) ein Reim nach dem Mustera-b-c-¢c-b-a
(3) ein Reim nach dem Mustera-b-a-b
(4) ein Reim nach dem Muster a-a-b-b

Options:
423509359591, 1

EAE350393982. 2
64535093983, 3
64535093954, 4

Question Number : 65 Question Id : 64635023948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wann begann die industrielle Revolution in Deutschland ?

(1) um 1790
(2) um 1840
(3) um 1870
(4 um 1880
Options:

545350939585, 1
645350393936, 2
645350393937, 3
64535093938, 4

Question Number : 65 Question Id : 64635023948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Wann begann die industrielle Revolution in Deutschland ?

(1) um 1790
(2) um 1840
(3) um 1870
(4) um 1880
Options:

64535093935, 1
E4E350939396. 2
E4E35093997. 3
E45350939388. 4

Question Number : 66 Question Id : 64635023949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Wo 1st es falsch deklimert ?

(1) alle alte Stadte
(2) alle alten Stadte
(3) welch hohe Tiirme

(4) solche guten Freunde

Options:

64535093999, 1
4535094000, 2
64535024001, =
64535034002, 4

Question Number : 66 Question Id : 64635023949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Wo 1st es falsch deklimert ?

(1) alle alte Stadte
(2) alle alten Stadte
(3) welch hohe Tiirme

(4) solche guten Freunde
Options:

64635093999, 1
64635094000, 2
64635094001, 3



EAE35094002. 4

Question Number : 67 Question Id : 64635023950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welches Wort gehért micht hierher ?
(1) Marktwirtschaft

(2) Staatswirtschaft
(3) Gastwirtschaft
(4) Planwirtschaft

Options:

64535094003, 1
64535034004, 2
64535034005, =
4835094006, 4

Question Number : 67 Question Id : 64635023950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welches Wort gehért micht hierher ?
(1) Marktwirtschaft

(2) Staatswirtschaft
(3) Gastwirtschaft

(4) Planwirtschaft

Options:

64535094003, 1
E4E35094004, 2
64535094005, 5
64535024006, 4

Question Number : 68 Question Id : 64635023951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wie heillen die vier Fertigkeiten ?
(1) Denken, Sprechen Sehen, Nachahmen
(2) Diktieren, Schreiben, Erklaren, Wiederholen
(3) Horen, Lesen, Sprechen, Schreiben

(4) Sehen, Singen, Denken, Nachahmen



Options:

64535094007, 1
48350394008, 2
4535094009, 2
64535024010, 4

Question Number : 68 Question Id : 64635023951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Wie heillen die vier Fertigkeiten ?

(1) Denken, Sprechen Sehen, Nachahmen

(2) Diktieren, Schreiben, Erklaren, Wiederholen
(3) Héren, Lesen, Sprechen, Schreiben

(4) Sehen, Singen, Denken, Nachahmen

Options:
4535094007, 1

E4E35034008. 2
64535094005, 3
B4535094010. 4

Question Number : 69 Question Id : 64635023952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Die NSDAP unter Adolf Hitler regierte zwischen :
(1) 1914 - 1945

(2) 1931 - 1945
(3) 1933 — 1945

(4) 1934 — 1945

Options:

4635094011, 1
64535024012, 2
64535034013 =
64535034014, 4

Question Number : 69 Question Id : 64635023952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Die NSDAP unter Adolf Hitler regierte zwischen :
(1) 1914 - 1945

(2) 1931 - 1945
(3) 1933 _— 1945
(4) 1934 — 1945

Options:

64535094011, 1
64535034012, 2
64835094012 =2
64535094014, 4

Question Number : 70 Question Id : 64635023953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frisch gewagt 1st halb gewonnen. In diesem Satz bedeutet “frisch” :
(1) zoégernd
(2) rasch
(3) mutig

(4) langsam

Options:
64535034015, 1

E4E3503401E6. 2
E4E35034017. 3
E4E350940158. 4

Question Number : 70 Question Id : 64635023953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frisch gewagt 1st halb gewonnen. In diesem Satz bedeutet “frisch” :
(1) zogernd
(2) rasch
(3) mutig

(4) langsam

Options:
64535094015, 1
64535034016, 2

64535094017, 3



EAE35094015. 4

Question Number : 71 Question Id : 64635023954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Was passt ? “Er hat mich wieder beladigt! Das lasse ich mir jetzt micht
mehr langer” :

(1) passieren
(2) gehen
(3) gefallen

(4) tun
Options:
64535094019, 1
64535094020 2
64535034021, 3
64535034022, 4

Question Number : 71 Question Id : 64635023954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Was passt ? “Er hat mich wieder beladigt! Das lasse ich mir jetzt micht
mehr langer” :

(1) passieren
(2) gehen

(3) gefallen
(4) tun

Options:

64535094019, 1
64535034020, 2
E4E35094021. 2
64535094022, 4

Question Number : 72 Question Id : 64635023955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche der folgenden 1st keine Millionenstadt ?

(1) Berlin
(2) Hamburg
(3) Bonn

(4) Mimchen



Options:

64535094023, 1
4835094024, 2
4535094025 =2
64535024026, 4

Question Number : 72 Question Id : 64635023955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche der folgenden 1st keine Millionenstadt ?

(1) Berlin

(2) Hamburg

(3) Bonn

(4) Mimnchen
Options:

64535094023, 1
64535094024, 2
E4E35094025. 3
EAE35094026. 4

Question Number : 73 Question Id : 64635023956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trédnen des Vaterlandes von Andreas Gryphius 1st :

(1) eine Ballade

(2) ein Sonett

(3) eine Elegie
(4) eine Ode

Options:

64535094027, 1
64535034028, 2
64535034029, =
4835094020 4

Question Number : 73 Question Id : 64635023956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Trénen des Vaterlandes von Andreas Gryphius ist :
(1) eine Ballade

(2) ein Sonett

(3) eine Elegie
(4) eine Ode

Options:

4635094027, 1
64535024028, 2
64535034029, =
64535034030, 4

Question Number : 74 Question Id : 64635023957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Was passt ? “Die beiden sind unzertrennlich, sie halten sich zusammen”

(1) wie am Spiel.
(2) wie die Heringe.
(3) wie Pech und Schwefel.

(4) wie warme Semmeln.

Options:
4535094031, 1

EAE35034032. 2
E4E35094033. 3
64535094024, 4

Question Number : 74 Question Id : 64635023957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Was passt ? “Die beiden sind unzertrennlich, sie halten sich zusammen”

(1) wie am Spiel.
(2) wie die Heringe.
(3) wie Pech und Schwefel.

(4) wie warme Semmeln.

Options:
4535094031, 1

EAE35034032. 2



EAE35094033. 3
64535094024, 4

Question Number : 75 Question Id : 64635023958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welches Wort 1st falsch buchstabiert ?
(1) Assistant

(2) Dirigent
(3) Konkurrent

(4) Referent

Options:

64535094035, 1
64535034036, 2
E4E35094037. 2
45350940328, 4

Question Number : 75 Question Id : 64635023958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welches Wort ist falsch buchstabiert ?
(1) Assistant

(2) Dirigent
(3) Konkurrent
(4) Referent

Options:

4535094035, 1
64535024036, 2
64535034037, =
64535034035, 4

Question Number : 76 Question Id : 64635023959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Dar Fischer von Goethe 15t elne :

(1) Anekdote

(2) Elegie

(3) Ballade

(4) Ode
Options:

64535094039, 1
E4E35094040. 2
E4E35094041. 3
B453509404%, 4

Question Number : 76 Question Id : 64635023959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Diar Fischer von Goethe 1st eine !

(1) Anekdote

(2) Elegie

(3) Rallade

(4) Ode
Options:

E4E35094023. 1
64535094040, 2
645350394041, 3
645350394042, 4

Question Number : 77 Question Id : 64635023960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Elinder Eifersucht schadet nur. In diesem Satz bebdutet “blind” :
(1) rasch

(2) stark
(3) dumm

(4) untiberlegt

Options:
64535094043 1

E4E350394044, 2
E4E35094045, 3
E453509404E. 4



Question Number : 77 Question Id : 64635023960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Elinder Eifersucht schadet nur. In diesem Satz bebdutet “blind” :
(1) rasch

(2) stark
(3) dumm

(4) uniiberlegt

Options:

64535094043, 1
64535024044 2
64535034045 =
645350340465, 4

Question Number : 78 Question Id : 64635023961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Die artikul atorische Beschreibung des Lautes [pf] ist :

(1) stimmhafter dentaler Verschlussl aut
(2) stimmloser velarer Reibelaut

(3) stimmloser labio-dentaler Affrikate
(4) stimmhafter labio-dentale Affrikate

Options:

64535094047, 1
64535034048, 2
64535034049, =
4835094050, 4

Question Number : 78 Question Id : 64635023961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Die artikul atorische Beschreibung des Lautes [pf] ist :
(1) stimmhafter dentaler Verschlussl aut
(2) stimmloser velarer Reibelaut
(3) stimmloser labio-dentaler Affrikate
(4) stimmhafter labio-dentale Affrikate

Options:



E4E35094047. 1
64535094045, 2
64535094045, 3
64535034050, 4

Question Number : 79 Question Id : 64635023962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Was hast du mit der Wasche gemacht ?”

Welche Antwort 1st richtig ?
(1) Ich habe die Wasche auf gehéngt.

(2) Ich habe die Wische aufgehangen.
(3) Ich habe die Wasche aufgehingt.
(4) Ich habe die Wasche auf gehangen.

Options:

4535094051, 1
64535024052, 2
64535034053 =
64535034054, 4

Question Number : 79 Question Id : 64635023962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Was hast du mit der Wasche gemacht ?”

Welche Antwort 1st richtig ?
(1) Ich habe die Wasche auf gehéngt.

(2) Ich habe die Wasche aufgehangen.
(3) Ich habe die Wasche aufgehingt.
(4) Ich habe die Wische auf gehangen.

Options:

64535094051, 1
64535024052, 2
64535094052 5
64535034054, 4

Question Number : 80 Question Id : 64635023963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Wie nennt man das Erlernen von etwas Neuem ?

(1) den Hund anschauen
(2) den Regenbogen fangen
(3) den Horizont erweitern
(4) das Firmament lesen

Options:

64535094055, 1
64535024056, 2
64535034057, =
64535034058, 4

Question Number : 80 Question Id : 64635023963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wie nennt man das Erlernen von etwas Neuem ?

(1) den Hund anschauen
(2) den Regenbogen fangen
(3) den Horizont erweitern
(4) das Firmament lesen

Options:

64535094055, 1
E4E35094056. 2
64535094057, 5
64535094058, 4

Question Number : 81 Question Id : 64635023964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Was was “Checkpoint Charlie” ?
(1) ein Gemalde von Paul Klee

(2) en Roman von Giinter Eich
(3) ein deutscher Rockband

(4) Grenziibergang in Berlin
Options:
E4E25094059 1
C4E350940680. 2
C4E2E094061. 2



EAE35094062. 4

Question Number : 81 Question Id : 64635023964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Was was “Checkpoint Charlie” ?
(1) ein Gemalde von Paul Klee

(2) en Roman von Giinter Eich
(3) ein deutscher Rockband

(4) Grenziibergang in Berlin
Options:
425094059 1
C4s250940:0. 2
cde3E0940e1. 2
64635094062, 4

Question Number : 82 Question Id : 64635023965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Die Didaktik Ktiimmert sich um die Frage:
(1) Wie die Lernenden ihre Identitit weiterentwickeln kénnen.

(2) Wie die Lernenden am besten lernen kénnen.

(3) Wer, was von wem, wann, mit wem, wo, wie, womit und wozu lernen
soll.

(4) Welche padagogischen MaBnahmen eingeleitet werden sollen, um ein
effektives autodidaktisches Lernen einzuleite.

Options:

64535094063, 1
64535024064, 2
64535034065, =
64535034066, 4

Question Number : 82 Question Id : 64635023965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Die Didaktik Kiimmert sich um die Frage:
(1) Wie die Lernenden ihre Identitit weiterentwickeln kénnen.
(2) Wie die Lernenden am besten lernen kénnen.
(3) Wer, was von wem, wann, mit wem, wo, wie, womit und wozu lernen

soll.

(4) Welche padagogischen MaBnahmen eingeleitet werden sollen, um ein
effektives autodidaktisches Lernen einzuleite.

Options:

64535094063, 1
64535034064, 2
64535034065, 2
4835094066, 4

Question Number : 83 Question Id : 64635023966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was 1st Homonymie ?

(1) Gleichklénge
(2) verschieden lautende Wérter gleicher Bedeutung
(3) Worter aus dem Bereich Homoerotik

(4) gleichlautende Wérter unterschiedlicher Herkunft und Bedeutung

Options:

64535094067, 1
64535034068, 2
48350394069 2
4535094070, 4

Question Number : 83 Question Id : 64635023966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was ist Homonymie ?

(1) Gleichklénge
(2) verschieden lautende Wérter gleicher Bedeutung
(3) Worter aus dem Bereich Homoerotik

(4) gleichlautende Wérter unterschiedlicher Herkunft und Bedeutung

Options:
64535094067, 1
64535034068, 2

E4E250340859. 5



EAE35094070. 4

Question Number : 84 Question Id : 64635023967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

“Jauchender Schmerz” 1st ein Beispiel fiar :

(1) Irome
(2) Oxymoron

(3) Antithese

(4) Paradoxen

Options:

64535094071, 1
64535034072, 2
48350394072 2
4535094074, 4

uestion Number : uestion Id : uestion Type: ption Shuffling : No Display Question Number : Yes
Question Number : 84 Question Id : 64635023967 Question T MCQ Option Shuffli No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

“Jauchender Schmerz” 1st ein Beigpiel fur :

(1) Tronie
(2) Oxymoron
(3) Antithese

(4) Paradoxen

Options:

4635094071, 1
64535024072, 2
64535034073 =
64535034074, 4

Question Number : 85 Question Id : 64635023968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wie heilit das Gegentell von “freigebig” ?

(1) tolerant

(2) verschwenderisch
(3) hilfsbereit

(4) selbstsicher

Options:
4535094075, 1



EAE35034076. 2
BAE35034077. 3
64535094078, 4

Question Number : 85 Question Id : 64635023968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wie heilit das Gegentell von “freigebig” ?

(1) tolerant

(2) verschwenderisch
(3) hilfsbereit

(4) selbstsicher

Options:

4535094075, 1
64535024076, 2
64535034077, =
64535034073, 4

Question Number : 86 Question Id : 64635023969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welches Verb fehlt ?

Er _ uber gute Beziechungen.
(1) seht
(2) wverfugt
(3) geniigt
(4) spuckt

Options:

64535094079, 1
64535034080, 2
64835094081, 2
4535094082, 4

Question Number : 86 Question Id : 64635023969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welches Verb fehlt ?
Er  tiber gute Beziehungen.
(1) seht
(2) verfugt
(3) geniigt
(4) spuckt

Options:
6435034079, 1

E4E35094020. 2
EAE35094081. 3
EAE35094052. 4

Question Number : 87 Question Id : 64635023970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was bedeutet das Fremdwort “sensibel” ?

(1) zerbrechlich
(2) egoistisch
(3) empfindsam

(4) intelligent

Options:

64535094083, 1
64535034084, 2
64535034035, 2
4835094036, 4

Question Number : 87 Question Id : 64635023970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was bedeutet das Fremdwort “sensibel” ?

(1) zerbrechlich
(2) egoistisch
(3) empfindsam

(4) intelligent
Options:
425094083, 1
4525094054, 2
C4EZE094085. 2



EAE35034056. 4

Question Number : 88 Question Id : 64635023971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was 1st eine Bliite, bevor sie sich 6ffnet ?

(1) ein Stengel
(2) eine Knospe

(3) ein Halm
(4) ein Beet
Options:

64535094057, 1
645350394088, 2
E4E35094089. 3
E4E35094030. 4

Question Number : 88 Question Id : 64635023971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Was ist eine Bliite, bevor sie sich 6ffnet ?

(1) ein Stengel
(2) eine Knospe

(3) ein Halm
(4) ein Beet
Options:

64535094057, 1
645350394058, 2
64535094059, 3
E4E35094030. 4

Question Number : 89 Question Id : 64635023972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Du glaubst nicht, was fiir einen Hunger ich habe. Mir der
Magen.

(1) schreit

(2) knurrt

(3) brummt

(4) bellt



Options:

64535094091, 1
E4E35094092. 2
4535094092 2
64535024094, 4

Question Number : 89 Question Id : 64635023972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Du glaubst nicht, was fiir einen Hunger ich habe. Mir der
Magen.

(1) schreit

(2) knurrt

(3) brummt

(4) Dellt

Options:

E4E35094091. 1
64535094082, 2
6453503940383, 3
645350394034, 4

Question Number : 90 Question Id : 64635023973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Unter ALFAC-Eericht versteht man
(1) All Languages Protection Advisory Cell

(2) American Language Processing Advisory Committee
(3) Automatic Language Processing Advisory Committee

(4) American Language Processing Advisory Cell

Options:

4535094095, 1
64535024096, 2
64535034097, =
64535034098, 4

Question Number : 90 Question Id : 64635023973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Unter ALFAC-Bericht versteht man
(1) All Languages Protection Advisory Cell

(2) American Language Processing Advisory Committee
(3) Automatic Language Processing Advisory Committee

(4) American Language Processing Advisory Cell

Options:

64535094095, 1
64535034096, 2
64535034097, =
4835094098, 4

Question Number : 91 Question Id : 64635023974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welches 15t kein Werk von Immanuel Kant ?

(1) Kritik der reinen Vernunft

(2) Kritik der prakischen Vernunft
(3) Kuritik der Urteilskraft

(4) Kritik der Asthetik

Options:

64825094099, 1
4535094100, 2
64535024101, 5
64535094102, 4

Question Number : 91 Question Id : 64635023974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welches 15t kein Werk von Immanuel Kant ?

(1) Kritik der reinen Vernunft

(2) Kritik der prakischen Vernunft
(3) Aritik der Urteilskraft

(4) Kritik der Asthetik

Options:

64535094099, 1
64535034100, 2
64535034101, =2
4535094102, 4



Question Number : 92 Question Id : 64635023975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

“Wann werdet 1hr uns besuchen” ?

Welche Antwort 1st richtig ?
(1) Wir kommen Ende dieses oder Anfang nachstes Jahr.

(2) Wir kommen Ende diesen oder Anfang nichsten Jahres.
(3) Wir kommen Ende dieses oder Anfang néchsten Jahres.
(4) Wir kommen Ende diesen oder Anfang nachstes Jahr.

Options:

64535094103, 1
E4E35094104. 2
4535094105 =2
64535024106, 4

Question Number : 92 Question Id : 64635023975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
“Wann werdet 1hr uns besuchen” ?
Welche Antwort 1st richtig ?
(1) Wir kommen Ende dieses oder Anfang nachstes Jahr.
(2) Wir kommen Ende diesen oder Anfang nichsten Jahres.
(8) Wir kommen Ende dieses oder Anfang néchsten Jahres.

(4) Wir kommen Ende diesen oder Anfang nachstes Jahr.

Options:

64535094103, 1
64535034104, 2
64835094105 =2
4535094106, 4

Question Number : 93 Question Id : 64635023976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Was wachst in vielen Géarten ?

(1) Puffmutterchen
(2) Rabenmiitterchen
(8) Leihmiitterchen
(4) Stiefmiitterchen



Options:

64535094107, 1
4835094108, 2
4535094109 2
64535094110, 4

Question Number : 93 Question Id : 64635023976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Was wachst in vielen Géarten ?

(1) Puffmitterchen
(2) Rabenmiitterchen
(3) Leihmiitterchen

(4) Stiefmiitterchen

Options:

64535094107, 1
4535094108, 2
64535094109, 5
64535094110, 4

Question Number : 94 Question Id : 64635023977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Welser Narr” 1st ein Beispiel fur :
(1) Oxymoron
(2) Antithese

(3) Paradoxon

(4) Tronie

Options:

64535094111, 1
64535024112, 2
64535094112,
64535034114, 4

Question Number : 94 Question Id : 64635023977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“Weiser Narr” ist ein Beispiel fur :
(1) Oxymoron
(2) Antithese
(3) Paradoxon
(4) Ironie

Options:

4835094111, 1
4535094112 2
64535024112,
64535094114 4

Question Number : 95 Question Id : 64635023978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Von wem stammt der Ausspruch — “Und es mag am deutschen Wesen
einmal noch die Welt genesen” ?

(1) Joseph Goebbels
(2) Kaiser Wilhelm II
(3) Hindenburg

(4) Emanuel Geibel

Options:

64535094115, 1
64535094116, 2
64535034117, =
64535034118, 4

Question Number : 95 Question Id : 64635023978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Von wem stammt der Ausspruch — “Und es mag am deutschen Wesen
einmal noch die Welt genesen” ?

(1) Joseph Goebbels
(2) Kaiser Wilhelm II
(3) Hindenburg

(4) Emanuel Geibel

Options:
64535094115, 1
64535034116, 2



E4E35094117. 3
645350941158, 4

Question Number : 96 Question Id : 64635023979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
Welche Aussagen sind richtig ?

(a) DieBilder gefallen mir sehr aufgrund der Farbtechnik,

(b) Mir gefallt das Bild sehr auferund der Farbtechnik.

(c) Mir gefalle das Bild sehr aufgrund der Farbtechnik.

(d) Ich gefalle das Bild sehr auferund der Farbtechnik.

(1) a&ec
(2) a&b
(3) b&ec
(4) c&d

Options:

64535094119, 1
64535034120 2
64535034121, =
4835094122 4

Question Number : 96 Question Id : 64635023979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Welche Aussagen sind richtig ?

(a) DieBilder gefallen mir sehr auferund der Farbtechnik,

(b) Mir gefillt das Bild sehr auferund der Farbtechmk.

(c) Mir gefalle das Bild sehr auferund der Farbtechnik.

(d) Ich gefalle das Bild sehr auferund der Farbtechnik.

() a&c
(2) a&b
(3) b&ec
(4) c&d

Options:

64535094119, 1
64535034120, 2
64835094121, 2
64535094122, 4

Question Number : 97 Question Id : 64635023980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Welche der folgenden Werke sind reprasentativ fiur Exilliteratur ?
(a) [Im Westen nichts Neues
(b) Der Zauberberg
(c) Der Mann ohne Eigenschaften
(d) Das siebte Kreuz
(1) a&b

(2) b&c
(3) b&d
(4 a&d

Options:

64535094123, 1
64535094124 2
64535034125 =
64535034126, 4

Question Number : 97 Question Id : 64635023980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welche der folgenden Werke sind reprasentativ fir Exilliteratur ?
(a) Im Westen nichts Neues
(b) Der Zauberberg
(c) Der Mann ohne Eigenschaften
(d) Das siebte Kreuz
(1) a&b

(2) b&c
(3) b&d
(4 a&d

Options:

64535094123, 1
64535034124 2
64835094125 2
4535094126, 4

Question Number : 98 Question Id : 64635023981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Welche Aussagen sind richtig ?
(a) Trochdus ist unbetont - betont.
(b) Jambus ist betont - unbetont.
(c) Trochéaus ist betont - unbetont.
(d) Jambus ist unbetont - betont
(1) a&b

(2) c&d
(3) a&d
(4 b&ec

Options:
E4E3E094127.

1
E4E35094128. 2
B4E35094129. 3
64535094120, 4

Question Number : 98 Question Id : 64635023981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welche Aussagen sind richtig ?
(a) Trochéus ist unbetont - betont.
(b) Jambus ist betont - unbetont.
(c) Trochaus ist betont - unbetont.
(d) Jambus ist unbetont - betont
(1) a&b

(2) c&d
(3) a&d
(4 b&ec

Options:

64535094127, 1
64535034128, 2
64835094129 2
64535094120, 4

Question Number : 99 Question Id : 64635023982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der Aussagen sind richtig ?

(a) Bel hohen Geschwindigkeiten wird mir immer angst und
bange.

(b) Der Vertrag wurde fiir null und nichtig erklart.

(c) Ich habe ihr meine Meinung klipp und klar gesagt.

(d) Ein solcher Gebrauch dieses Wortes ist ganz und gibe.
(1) abé&d

(2) ac&d

(3) bc&d

(4) ab&ec
Options:

64535094131, 1
64535094132, 2
E4E35094133. 3
E4E35094124. 4

Question Number : 99 Question Id : 64635023982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche der Aussagen sind richtig ?

(a) Bel hohen Geschwindigkeiten wird mir immer angst und
bange.

(b) Der Vertrag wurde fiir null und nichtig erklart.

(c) Ichhabe ihr meine Meinung klipp und klar gesagt.

(d) Ein solcher Gebrauch dieses Wortes ist ganz und gébe.
(1) abé&d

(2) ac&d

(3) bc&d

(49 ab&e
Options :

E4E35094121. 1
E4E35094132. 2
64535094133, 3
64535094134, 4

Question Number : 100 Question 1d : 64635023983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Satze sind richtig formuliert ?

(a) Waer eine originelle Rembrandtbezeichnung besitzt, hat eine
echte Zeichnung.

(b) Er hat die ideale Frau gefunden.
(c) Diese alte Uhr hat fiir mich einen ideellen Wert.

(d) In wvielen Staaten sind die Frauen nur formal
gleichberechtigt.

(1) ab&d
(2) bc&d
(3) ab&ec
(4 ac&d

Options:

64535094135 1
64535024136, 2
64535024137, 5
64535034135, 4

Question Number : 100 Question Id : 64635023983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche der folgenden Satze sind richtig formuliert ?
(a) Wer eine ariginelle Rembrandtbezeichnung besitzt, hat eine
echte Zeichnung.
(b) Er hat die ideale Frau gefunden.
(¢) Diese alte Uhr hat fiir mich einen ideellen Wert.

(d) In wvielen Staaten sind die Frauen nur formal
gleichberechtigt.

() abé&d
(2) bc&d
(3) ab&e
(4 ac&d

Options:

64535094135, 1
64535034136, 2
64535034137, 2
4835094128 4

Question Number : 101 Question Id : 64635023984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Satze sind richtig ?
(a) Schwimmbad und Gartenanlage haben 2 Silben
(b) Schwimmbad und Badetuch haben 2 Silben.
(c) Badetuch und Elefant haben 3 Silben.
(d) Gartenanlage und Lokomotive haben 5 Silben.
(1) a&d

(2) b&ec
(3) c&d
(1) a&b

Options:

64535094139, 1
4835094140 2
4535094141, =2
64535024142, 4

Question Number : 101 Question Id : 64635023984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche der folgenden Satze sind richtig ?
(a) Schwimmbad und Gartenanlage haben 2 Silben
(b) Schwimmbad und Badetuch haben 2 Silben.
(c) Badetuch und Elefant haben 3 Silben.
(d) Gartenanlage und Lokomotive haben 5 Silben.
(1) a&d

(2) bé&ec
(3) c&d
(1) a&b

Options:

64535094139, 1
4835094140 2
4535094141, =2
64535024142, 4

Question Number : 102 Question Id : 64635023985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Die akustische Phonetik beschreibt und klassifiziert die Sprachlaute
nach thren physikalischen Eigenschaften :

(@) Dauer

(b) Frequenz
(¢) Intensitat
(d) Lautstéirke

(1) bec&d
(2) ac&d
(3) abé&ec
(4 ab&d
Options:

645350941421
645350394144, 2
64535094145, 3
E4E3509414E. 4

Question Number : 102 Question Id : 64635023985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Die akustische Phonetik beschreibt und klassifiziert die Sprachlaute
nach thren physikalischen Eigenschaften :

(@) Dauer

(b) Frequenz
(¢) Intensitat
(d) Lautstarke

(1) bce&d
(2) ac&d
(3) abé&ec
(4 ab&d
Options:

645350941421
645350394144, 2
64535094145, 3
E4E3509414E. 4

Question Number : 103 Question Id : 64635023986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wodurch zeichnet sich die Handlung in einem geschlossenen Drama
aus ?

(a) Die Handlung folgt einer linearen Entwicklung.

(b)  Alle Szenen bauen einander auf

(c) Das Drama hat einen klaren Anfang und ein eindeutiges

Ende.

(d) Sieist realistisch und psychologisch schliissig.
(1) bc&d

(2) bc&a
(3) bd&a
(49 ¢, d&a

Options:

64535094147, 1
4535094148, 2
64535094149, 5
64535034150 4

Question Number : 103 Question Id : 64635023986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Wodurch zeichnet sich die Handlung in einem geschlossenen Drama
aus ?
(a) Die Handlung folgt einer linearen Entwicklung.
(b) Alle Szenen bauen einander auf.

(c) Das Drama hat einen klaren Anfang und ein eindeutiges
Ende.

(d) Sieist realistisch und psychologisch schliissig.
(1) bc&d

(2) bc&a
(3) bd&a
(4 ¢, d&a

Options:

64535094147, 1
64535094148, 2
64535034149 =
64535034150, 4

Question Number : 104 Question 1d : 64635023987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wodurch zeichnet sich die Literatur des Sturm und Drangs aus ?
(a) Durch die Betonung des Emotionalen.
(b) Durch das Aufbrechen traditionellen Formen.

(c) Durch das Streben nach harmonischer Einheit.
(d) Durch die Revolte des Genies.

(1) abé&c
(2) bc&d
(3) ab&d
(4) acé&d
Options:

E4535094151. 1
E4535094152. 2
E4535094153. 3
64535094154, 4

Question Number : 104 Question 1d : 64635023987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wodurch zeichnet sich die Literatur des Sturm und Drangs aus ?
(a) Durch die Betonung des Emotionalen.
(b) Durch das Aufbrechen traditionellen Formen.
(¢c) Durch das Streben nach harmonischer Einheit.
(d) Durch die Revolte des Genies.

(1) ab&ec

(2) bc&d

(3) ab&d

(4) ac&d
Options:

64535094151, 1
64535094152, 2
645350394153, 3
E4E350394154. 4

Question Number : 105 Question Id : 64635023988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Erfindungen trieben die Industrialisierung bedeutend voran ?
(a) Dampfmaschine
(b) Feuer
(¢) Spinnmaschine
(d) Wasserkraftwerke
(1) a&b

(2) b&ec
(3) a&e
(4 b&d

Options:

4635094155, 1
64535094156, 2
64535034157, =
64535034158, 4

Question Number : 105 Question 1d : 64635023988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welche Erfindungen trieben die Industrialisierung bedeutend voran ?
(a) Dampfmaschine
(b) Feuer
() Spinnmaschine
(d) Wasserkraftwerke
(1) a&b

(2) b&ec
(3) a&e
(4) b&d

Options:

64535094155, 1
64535034156, 2
64835094157, 2
64535094158, 4

Question Number : 106 Question Id : 64635023989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Bei welchen der folgenden Séatzen ist die Praposition richtig gebraucht ?
(a) Ich habe zu deiner Frage Notiz genommen.

(b) Hast du Gefallen gefunden mit dem Haus ?

(c) Jetzt hat Herr Meier Rache an seinem Nachbarn
genommen.

(d) Hast du die Frage nach der Bezahlung gestellt ?

(1) a&b

(2) b&c

(3) b&d

(4) c&d

Options:

4535094159, 1

6435094160 2

E4535094161. 3
64535094162, 4

Question Number : 106 Question 1d : 64635023989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Bei welchen der folgenden Séatzen ist die Praposition richtig gebraucht ?
(a) Ich habe zu deiner Frage Notiz genommen.
(b) Hast du Gefallen gefunden mit dem Haus ?

(c) Jetzt hat Herr Meier Rache an seinem Nachbarn
genommen.

(d) Hast du die Frage nach der Bezahlung gestellt ?
(1) a&b
(20 b&ec
(3) b&d
(4 c&d

Options:

64535094159, 1
64535034160, 2
64835094161, =2
64535094162, 4

Question Number : 107 Question Id : 64635023990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden sind deutsche Erfindungen ?
(a) Diedeans
(b) Die Mundharmonika
(¢) Das Aspirin
(d) Der Bleistift

(1) abé&ec

(2) abé&d

(3 bc&d

(4) ac&d
Options:

64535094163, 1
645350394164, 2
64535094165, 3
E4E35094166. 4

Question Number : 107 Question Id : 64635023990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche der folgenden sind deutsche Erfindungen ?
(a) Diedeans
(b) Die Mundharmonika
(c) Das Aspirin
(d) Der Bleistift

(1) abé&ec

(2) abé&d

(3 bc&d

(4) ac&d
Options:

64535094163, 1
645350394164, 2
64535094165, 3
E4E35094166. 4

Question Number : 108 Question Id : 64635023991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Aussagen sind richtig ?

(a) Bei einer interlinearen U'bersetzmlg wird Wort fir Wort
ubersetzt.

(b) Bei einer interlinearen Ubersetzung ist der Zieltext nur
zusammen mit dem Ausgangstext verstdndlich.

(¢) Bei einer interlinearen Ubersetzung wird der Sinn des
Ausgangstextes frel tibersetzt.

(d) Bei einer interlinearen Ubersetzung warden interkulturelle
Aspekte  der  Ausgangssprache und  Zielsprache

hervorgehoben.
(1) a&b
(2) b&c
(3 a&d
(4) b&d

Options:

64635094167, 1
64535034168, 2
64535034169, =
4835094170, 4

Question Number : 108 Question Id : 64635023991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welche der folgenden Aussagen sind richtig ?

(a) Bel einer interlinearen Ubersetzung wird Wort fir Wort
ubersetzt.

(b) Bei einer interlinearen Ubersetzung ist der Zieltext nur
zusammen mit dem Ausgangstext verstiandlich.

(¢) Bei einer interlinearen Ubersetzung wird der Sinn des
Ausgangstextes frel tibersetzt.

(d) Bei einer interlinearen Ubersetzung warden interkulturelle
Aspekte  der  Ausgangssprache und  Zielsprache

hervorgehoben.
(1) a&b
(2) b&ec
(3) a&d
(4 b&d

Options:
435094167, 1

E4E35094168. 2
E4E3509416%9. 3
B4E35094170. 4



Question Number : 109 Question Id : 64635023992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welchle der folgenden Kombinationen enthalten nur die richtigen
Aussagen ?
(a) Christa Wolf schrieb Der geteilte Himmel
(b) Ingeborg Bachmann schrieb Malina
(c) Elfriede Jelinek schrieb Der Geliebte
(d) Yoko Tawada schrieb Talisman

(1) abé&ec

(2) ab&d

(3) bc&d

(4 ac&d
Options:

E4E35094171. 1
EAE35094172. 2
E4E35094173. 3
64535094174, 4

Question Number : 109 Question 1d : 64635023992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welchle der folgenden Kombinationen enthalten nur die richtigen
Aussagen ?
(a) Christa Wolf schrieb Der getei/te Himmel
(b) Ingeborg Bachmann schrieb Malina
(c) Elfriede Jelinek schrieb Der Geliebte
(d) Yoko Tawada schrieb Talisman

(1) abé&c

(2) ab&d

(3) bc&d

(4) ac&d
Options:

64535094171, 1
64535094172 2
645350394173, 3
E4E35094174. 4

Question Number : 110 Question Id : 64635023993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Séatze sind richtig ?
(a) Je gréBer und reiner ein Brillant ist, desto teurer ist er.
(b) Gegen rohe Kraft kommt man nicht mit guten Worten auf.

(¢) Mit zunehmender Umweltbelastung verringert sich immer
auch die Lebensqualitat.

(d) Der Rennfahrer verlor die Macht tiber seinen Wagen und
raste gegen die Mauer.

(1) a&b
(2) a&e
(3 bé&d
(4) d&a

Options:
45250941751

E4E35094176. 2
E4E35094177. 3
64535094178, 4

Question Number : 110 Question 1d : 64635023993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welche der folgenden Séatze sind richtig ?
(a) Je grober und reiner ein Brillant ist, desto teurer ist er.
(b) Gegen rohe Kraft kommt man nicht mit guten Worten auf.

(¢} Mit zunehmender Umweltbelastung verringert sich immer
auch die Lebensqualitat.

(d) Der Rennfahrer verlor die Macht iiber seinen Wagen und
raste gegen die Mauer.

(1) a&b
(2) a&ec
(3 b&d
(4 d&a

Options:

64535094175, 1
64535034176, 2
4835094177, 2
64535094175, 4

Question Number : 111 Question Id : 64635023994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
In welchen der folgenden Satzen 1st “Menschen” mnicht richtig
gebarucht?
(a) Ein Sprichwort heift: Kleider machen Menschen.
(b) Die Arbeit der Menschen kann nur im Frieden gedeihen.
(¢)  Aufder Erde leben iiber drei Milliarden Menschen.
(d) Die Menschen erzihlen, dass ihn seine Frau verlassen hat

(1) a&b
(2) b&ec
(3) c&d
(4 d&a
Options:

64535094179, 1
E4E35094180. 2
E4E35094181. 3
64535094182, 4

Question Number : 111 Question Id : 64635023994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In welchen der folgenden Satzen 1st “Menschen” mnicht richtig
gebarucht?
(a) Ein Sprichwort heift: Kleider machen Menschen.
(b) Die Arbeit der Menschen kann nur im Frieden gedeihen.
(¢)  Aufder Erde leben iiber drei Milliarden Menschen.
(d) Die Menschen erzihlen, dass ihn seine Frau verlassen hat
(1) a&b
(2) b&ec
(3) c&d
(4 d&a

Options:

E4E35094179. 1
645350941350, 2
64535094181, 5
64535034182, 4

Question Number : 112 Question Id : 64635023995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Welche Satze sind nicht richtig 7

(a) Der Larm hinderte mich am Arbeiten.

(b) Sie erinnerte sich an ihre eigene Kindheit.

(c) Erist an eine leichte Grippe erkrankt.

(d) Der Redner brauschte sich an seine eigenen Worten.
(1) a&b
(2) b&ec
(3) c&d
(4 d&b

Options:

64535094183, 1
64535094154, 2
64535094185, o
645350341586, 4

Question Number : 112 Question Id : 64635023995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Satze sind nicht richtig ?

(a) Der Larm hinderte mich am Arbeiten.

(b) Sie erinnerte sich an ihre eigene Kindheit.

(c) Erist an eine leichte Grippe erkrankt.

(d) Der Redner brauschte sich an seine eigenen Worten.
(1) a&b
(2) b&ec
(3 c&d
(40 d&b

Options:

4535094183, 1
64535094184, 2
64535034185, =
64535034136, 4

Question Number : 113 Question 1d : 64635023996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In welchen Satzen sind falsche Zwillingsformeln gebraucht ?
(a) Er besuchte mich dann und wann mit seiner Frau.
(b) Esist nur rest und best, dass er seine Schulden bezahlt.
(¢) Vor Wut hat er in der Wohnung alles kurz und klar

geschlagen.

(d) Wegen des Umzugs geht es bel mir zu Hause drunter und
driiber.

(1) a&b
(2 bé&ec
(3 c&d
(4 a&d
Options:
4535094187,
E45250341855.

1
2
E4E35094189. 3
64535094130, 4

Question Number : 113 Question Id : 64635023996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In welchen Satzen sind falsche Zwillingsformeln gebraucht ?
(a) Er besuchte mich dann und wann mit seiner Frau.
(b) Es ist nur rest und best, dass er seine Schulden bezahit.

(c) Vor Wut hat er in der Wohnung alles kurz und klar
geschlagen.

(d) Wegen des Umzugs geht es bel mir zu Hause drunter und
driiber.

(1) a&b
(20 b&ec
(3) c&d
(40 a&d

Options:

64535094187, 1
64535034188, 2
64535034139, 2
E4E35094190. 4

Question Number : 114 Question Id : 64635023997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Wortpaare sind Minimalpaare ?
(a) Wand - Rand
(b) Béaren — Beeren
(¢) Kind - Rind
(d) taugt — taucht
() ab&ec

(2) abé&d
(3) bd&c
(4) ac&d

Options:

645350941491, 1
64535024192, 2
64535094192, 5
64535034194, 4

Question Number : 114 Question Id : 64635023997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche der folgenden Wortpaare sind Minimalpaare ?
(a) Wand -Rand
(b) Baren — Beeren
() Kind- Rind
(d) taugt —taucht
(1) ab&ec

(2) abé&d
(3) bd&e
(4 ac&d

Options:

64535094191, 1
64535034192, 2
64535034193 =2
64835094194 4

Question Number : 115 Question Id : 64635023998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Aussagen gelten fiir das Epische Theater ?

(a) Es existiert ein Erzahler, der iiber alle Figuren Bescheid
welll.

(b) Es hat eine geschlossene Form.
(¢) Jede Szene steht fur sich allein.
(d) Der Ablauf des Dramas springt hin und her.

(1) ab&ec

(2) ab&d

(3) ac&d

(4) bcé&d
Options:

6453509413951
645350941396, 2
E4E3503941397. 3
E4E350941398. 4

Question Number : 115 Question Id : 64635023998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche der folgenden Aussagen gelten fiir das Epische Theater 7

(a) Es existiert ein Erzahler, der iiber alle Figuren Bescheid
welll.

(b) Es hat eine geschlossene Form.
(¢) Jede Szene steht fur sich allein.
(d) Der Ablauf des Dramas springt hin und her.

(1) ab&ec

(2 ab&d

(3 acé&d

(4) bcé&d
Options:

645350941395, 1
E4E350941396. 2
E4E350941397. 3
6453509413958, 4

Question Number : 116 Question Id : 64635023999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Welche der folgenden Aussagen 1st falsch ?

(1) Die Ubersetzung kann versuchen, den Wortlaut der fremden Sprache in
der elgenen mdaglichst genau nachzubilden.

(2) Die Ubersetzung kann versuchen, den Sinn des fremdsprachlichen
Textes frel und unmittelbar verstandlich zu wiedergeben.

(3) Eine wortwirtliche Ubersetzung kann den genauen Inhalt des
Ausgangstextes in der Zielsprache garantieren.

(4) Eine Ubersetzung,die das richtige Verstdndnis des Inhalts fiir jeden
Empfanger garantiert, gibt es nicht.
Options:
64635094199, 1
64635094200. 2
64635094201, 3
64635094202, 4

Question Number : 116 Question Id : 64635023999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche der folgenden Aussagen ist falsch ?

(1) Die Ubersetzung kann versuchen, den Wortlaut der fremden Sprache in
der elgenen mdaglichst genau nachzubilden.

(2) Die Ubersetzung kann versuchen, den Sinn des fremdsprachlichen
Textes fre1 und unmittelbar verstandlich zu wiedergeben.

(3) Eine wortwirtliche Ubersetzung kann den genauen Inhalt des
Ausgangstextes in der Zielsprache garantieren.

(4) Eine Ubersetzung,die das richtige Verstdndnis des Inhalts fir jeden
Empfanger garantiert, gibt es nicht.
Options:
64635094199 1
64635094200. 2
64635094201, 3
64635094202, 4

Question Number : 117 Question Id : 64635024000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Weche Kombination ist richtig ?

(a) Wer zuerst kommt, (i) gewinnt

(b) Wer Wind sit, (i1) mahlt zuerst

() Wer wagt, (iii) der rostet

(d) Wer rastet, (iv) wird Sturm ernten

(D (@-Gi), B, (-lv), (d-ii)
(2 (@-G), B)-v), (-0, (i)
(3) (@i, (b)—Gv), (©-G), (D)
(4 (@-G), (b)-Gv), ()-ii), (d)-0)

Options:

4535094203,
64535094204,
64535094205,
64535094206,

o LI M

Question Number : 117 Question 1d : 64635024000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Weche Kombination ist richtig ?

(a) Wer zuerst kommt, (i) gewinnt

(b) Wer Wind sét, (1) mahlt zuerst

() Wer wagt, (iii) der rostet

(d) Wer rastet, (iv) wird Sturm ernten

(1 (@-Gi), b)), (-iv), (d-i)
(2) (a)-G), b)-Gv), (D), (d-id)
(3 (a)-(ii), (b)-Gv), (-0, (-
(4) (a)-Gi), (b)v), (e-ii), (D-0)

Options:

64535094203, 1
E4E35094204. 2
64535094205, 5
64535094206, 4

Question Number : 118 Question Id : 64635024001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination 1st richtig ?

(a) Hermann Hesse (1) Professar Unrat

(b) Heinrich Mann (ii) Das Glasperlenspiel

(¢c) Bertolt Brecht (iii) Der Hauptmann von Kopenick
(d) Carl Zuckmayer (iv) Die Gewehre der Frau Carrar

(1) (@-G), (b)-Gi), (c)-Gii), (d—v)
(2) (a)-Gi), b0, (-Gv), (D-(ii)
(38) (a)—Gv), (b)iD), (c)—Gii), (D-G)
(1) (a)—Gv), b)GiD), (-G, (d-Gi)

Options:

64535094207,
E4E835094208.
E4E35094209,
64535094210,

o LIPS

Question Number : 118 Question Id : 64635024001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Kombination 1st richtig ?

(a) Hermann Hesse (1) Professar Unrat

(b) Heinrich Mann (ii) Das Glasperlenspiel

(¢) Bertolt Brecht (iii) Der Hauptmann von Kopenick
(d) Carl Zuckmayer (iv) Die Gewehre der Frau Carrar

(1) (@-G), (b)-Gi), (c)-LGii), (dD—v)
(2) (a)-Gi), b0, (-Gv), (D-(ii)
(3) (a)—Gv), (b)iD), (c)-Gii), (D-G)
(4) (a)-Gv), b)-GiD), (-G, (d-Gi)

Options:

4835094207,
4535094208,
4535094209,
4535094210,

o LIRS

Question Number : 119 Question Id : 64635024002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Welche Kombination ist richtig ?

(a) Siesalen  am Ufer und (1) stillschweigend
blickten auf das Meer.

(b) Sonst spricht sie viel, aber heute (i1) wverschwiegen
1stsle

(¢) Der Streit wurde _ begraben. (iii) schweigend

(d) Sie kénnen ihm alles (iv) schweigsam

anvertrauen; er 1st

(1) (@-0), (b)-Gi), (c)-ii), (dJ—(lv)
(2) (a)-Gi), (b)), (0)-0Gv), (d)-ii)
(3) (a)—Gii), (—Gv), (-G, (D)
(4) (a)-Gv), (b)-(Gii), (e-Gi), (d)-G)
Options:

64635094211 1

64635094212 2

645350394213, 3
64535094214, 4

Question Number : 119 Question Id : 64635024002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Kombination 1st richtig ?

(a) Sie saBen am Ufer und (1) stillschweigend
blickten auf das Meer.

(b) Sonst spricht sie viel, aber heute (ii) wverschwiegen

1st s1e
(¢) Der Streit wurde begraben. (iii) schweigend
(d) Sie kénnen ihm alles (iv) schweigsam

anvertrauen er ist

(1) (@-0), (b)), (c)-(ii), (dJ—(lv)
(2) (a)-G1), (b)), (o)-Gv), (d)—1ii)
(3) (a)-Gi1), (b-Gv), ()0, (D)
(4) (a)-Gv), (b)-Gii), (¢)-Gi), (d)-G)
Options:

E4E2E094211.1

E4EZE094212. 2

64535094213, 3
64535094214, 4

Question Number : 120 Question 1d : 64635024003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination 1st richtig ?

(a) Der Tisch wackelt; ein __ist (i) Zahn
zZu kurz.

(b) Der ganze Rasen ist wieder (ii) Ricken
voller Lowen

(¢) Messer haben eine Schneide  (i1) Rippe
und einen

(d) Der Heizkérper ist klein, er iv) Bein
hat zu werug _

(1) (a-GiD), (b-Gi), (e)- (nr) (d)—G)
(2) (a)-Gi), (b)—ii), (c)-G), (d—iv)
(8) (@-Gv), b)), (-G, (d)-Gii)
(4 (@-0), (b)-Gi), ()-Gii), (d-Gv)

Options:

64535094215,
64835094216,
4535094217,
4535094218,

o IR

Question Number : 120 Question Id : 64635024003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Kombination 1st richtig ?
(a) Der Tisch wackelt; ein ist () Zahn
zZu kurz.
(b) Der ganze Rasen ist wieder (ii) Ricken
voller Léwen
(c) Messer haben eine Schneide (111) Rippe
und einen
(d) Der Heizkérper ist klein, er (iv) Bein
hat zu werig _
(1) (-G, (b)-ii), (e)- (w) (d)—G)
(2) (a)-Gi), (b)—ii), (c)-G), (d—iv)
(8) (a-Gv), b)), (-G, (d)-LGii)
(4) (a)-0), b)-Gi), (-GiD), (D-Gv)
Options:
4525094215 1
CAEZE094216. 2

64535094217, 3
E4E35094215. 4

Question Number : 121 Question Id : 64635024004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination ist richtig ?
(a) Die Limonade mich. (1) ergraut
(b) Unser Nachbar ist plotzlich (i) erweicht

(¢) Sein Haar ist in einer (iii) erkrankt
einzigen Nacht

(d) Seine sténdigen Bitten haben (iv) erfrischt
mich schliefilich i

(1) (a)-0), (b)-Gi), (-Gun), (d-Gv)
(2) (a)-), (b)), (-Gv), (d—i)
(3) (a)-Gid), (b)—Gv), (&-Gi), (d-G)
(4) (a)-Gv), b)-Gii), (-G, (d-i)

Options:

64535094219,
64535094220,
64835094221,
E4E35094222,

[ N

Question Number : 121 Question Id : 64635024004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Kombination ist richtig ?
(a) Die Limonade  mich. (1) ergraut
(b) Unser Nachbar ist plétzlich (i) erweicht

(c) Sein Haar ist in einer (i11) erkrankt
einzigen Nacht

(d) Seine standigen Bitten haben (iv) erfrischt
mich schliefilich .

(1 (a-@), (b)-Gi), ()-Gii), (d—Liv)
(2) (a)-Gi), b)), ()G, (d—ii)
(3) (a)-Gi), (b)-Gv), (-G, (-G
(4) (a)—(iv), (b)-(ii), (o)-0), (DL
Options:

C4AE35094219 1

CAEZE094220. 2

64535094221, 3
4535094222, 4

Question Number : 122 Question 1d : 64635024005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination sind richtig ?

(a) Jacques Derrida (i) Hybriditat

(b) Jacques Lacan (ii) Diskurs

(¢) Michel Foucault (iii) Spiegelstadium
(d) Homi K. Bhabha (iv) Difference

(1) @-0), B)-Gi), ©-Gv), (D-Gi)
(2) (@-Gv), b)-ii), ()-GD), (d)-0)
(3) (@-G1), b)), (@-Gv), (D-0)
(9 (@i, (b)—-v), (©)-GD), (d)-0)

Options:

64535094223, 1
64535024224 2
64535034225 =
64535034226, 4

Question Number : 122 Question 1d : 64635024005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welche Kombination sind richtig ?

(a) Jacques Derrida (1) Hybriditat

(b) Jacques Lacan (i1) Diskurs

(¢) Michel Foucault (iii) Spiegelstadium
(d) Homi K. Bhabha (iv) Difference

(1) (-0, b)-Gii), ()—Liv), (d)-Li)
(2) (a)-Gv), (b)), (c)-GD), (d-0)
(3) (a)-i), ()-LGii), (-Gv), (D-G)
(4) (a)-Gii), (b)-Gv), (©-Gi), (d-G)

Options:

64535094223, 1
E4E35094224 2
64535094225, 5
64535024226, 4

Question Number : 123 Question Id : 64635024006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche der folgenden Erklarungen sind richtig ?
(a) “sich etwas ersinnen” bedeutet : sich etwas ausdrucken.

(b) “etwas konservieren” bedeutet : etwas so verhalten, wie es
1st.

(c) “etwas untersagen” bedutet : etwas leise sagen.

(d) “etwas nachvollziehen” bedeutet : einer Sache logisch

folgen.
(1) ab&ec
(2) b ec&d
(3) ¢,d&a
(4 a,bé&d

Options:
E4E35094227. 1

EAE35094225. 2
E4E35094229. 3
BAE35094230. 4

Question Number : 123 Question Id : 64635024006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
Welche der folgenden Erklarungen sind richtig ?
(a) “sich etwas ersinnen” bedeutet : sich etwas ausdrucken.
(b) “etwas konservieren” bedeutet : etwas so verhalten, wie es
1st.
(c) “etwas untersagen” bedutet : etwas leise sagen.

(d) “etwas nachvollzichen” bedeutet : einer Sache logisch

folgen.
(1) ab&ec
(2) b,c&d
(3) ¢,d&a
(4 a,bé&d

Options:

64535094227, 1
64535034228, 2
64535034229 2
E4E35094220. 4

Question Number : 124 Question Id : 64635024007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination 1st richtig ?

(a) Dadaismus (i) Hans Arp

(b) Strukturalismus (ii) Wilhelm Raabe

(¢) Realismus (ii1) Stefan Zweig

(d) Impressionismus (iv) Ferdinand Saussure

(D (@-0, B-Gv), (-G, (i)
(2 (a-GiD), -G, ©-Gv), (-G
(3 @-G), b)-v), (L), (d)-i)
(9 @-Gv), b)-0), (©-Gi), (d)-{ii)

Options:

64535094231, 1
64535024232 2
64535034233 =
64535034234 4

Question Number : 124 Question 1d : 64635024007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welche Kombination ist richtig ?

(a) Dadaismus (i) Hans Arp

(b) Strukturalismus (i1) Wilhelm Raabe

(c¢) Realismus (ii1) Stefan Zweig

(d) Impressionismus (iv) Ferdinand Saussure

(1) @-06), B)-Gv), ()G, (d)-Gii)
(2) (@-GiD), (-G, ©-Gv), (D)
(3) (a)-Gi), (b—Gv), (1), (d—G)
(4) (a)-Gv), ()0, (-1, (D-Lii)

Options:

64535094231, 1
E4E35094232. 2
64535094222 5
64535094224 4

Question Number : 125 Question Id : 64635024008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination ist richtig ?
(a) das beste Pferd im Stall sein (i) sich irren.

(b) mit den Hithnern zu Bett (i) ein Geheimnis verraten.
gehen
(¢) auf dem Holzweg sein (iii) der Leistungsstirkste
Mitarbeiter sein.
(d) auf der Schule plaudern (iv) sehr zeitig schlafen gehen.

(1) (a)-Gii), (b)-Gv), ()-0), (D)
(2) (a)-Gi), ()W), (-Gv), (d-ii)
(3) (@0, b)-Gi), (-Gii), (d-Liv)
(4) (@-Gv), (b)), (o)-Gb), (d)-0)

Options:

64535094235,
64535094236,
64535094237,
E4E3509423E.

[ N

Question Number : 125 Question Id : 64635024008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Kombination 1st richtig ?
(a) das beste Pferd im Stall sein (i) sich irren.

(b) mit den Hithnern zu Bett (ii) ein Geheimnis verraten.
gehen
(¢) auf dem Holzweg sein (iii)der Leistungsstérkste
Mitarbeiter sein.
(d) auf der Schule plaudern (iv) sehr zeitig schlafen gehen.

(1) (a-GiiD), (b)-Gv), -0, (d)-i)
(2 (a2-Gi), )W), (©-Gv), (d-ii)
(8) (@-G), b)-Gi), (c)-Gii), (d—iv)
(4) (@-Gv), (b)), (o)-G1), (d)-0)

Options:

4535094255, 1
64535024236, 2
64535034237, =
64535034235, 4

Question Number : 126 Question 1d : 64635024009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Kombination ist richtig ?

(a) Jeh und Kaminski (1) Martin Walser
(b) Ganz schén Deutsch (i1) Christa Wolf
(¢c) Ein sterbender Mann (iii) Daniel Kehlmann

(d) Nachdenken iiber Christa T (iv) Dilek Gingor
(1) (a)-0), (b)-Gid), (0)-Gi), (d—v)
(2) (@-Gi), b)-0), (©-Gv), (d-LGii)
(3) (a)-Gii), (b-Gv), (©)-G), (d)-GD)
(4) (@-Gv), (b)-Gi), ()-Gii), (d)-G)

Options:

64535094239,
4835094240,
4535094241,
64535094242,

o LIPS

Question Number : 126 Question Id : 64635024009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Kombination ist richtig ?

(a) fch und Kaminslki (1) Martin Walser
(b) Ganz schén Deutsch (i1) Christa Wolf
(¢c) Ein sterbender Mann (iii) Daniel Kehlmann

(d) Nachdenken iiber Christa T (iv) Dilek Gimngor
(1) (@-0), b)-Gii), (-, (DLv)
(2) (@-Gi), (D), (©-Gv), (D)
(3) (a)-Gii), (b)-Gv), (c)-@), (DD
(4) (a)-Gv), (b)-Gi), (o)-ii), (d-G)

Options:

4835094239,
E4E35094240,
4535094241,
4535094242,

o LIRS

Question Number : 127 Question Id : 64635024010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Welche Kombination 1st richtig ?
(a) Bibeliibersetzung (i) Walter Benjamin
(b) Sendbrief vam Dolmetschen (ii) Friedrich Schleiermacher
(c) Formbetontes Ubersetzen (111) Martin Luther
(d) die Aufgabe des Ubersetzers (iv) Eugene Nida
(1) (-0, b)-Gv), (D), (d-Gii)
(2) (a)-Gii), (b)-G1), (e-Gv), (d-G)
(3) (a-Gv), b)-LiD, (©-0), (D)
(1 (@), b)), (-Gi), (d-Liv)

Options:

4835094243,
4535094244,
64535094245,
4535094246,

o LIRS

Question Number : 127 Question Id : 64635024010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Kombination 1st richtig ?

(a) Bibeliibersetzung (i) Walter Benjamin

(b) Sendbrief vom Dolmetschen (ii) Friedrich Schleiermacher
(¢) Formbetontes Ubersetzen (111) Martin Luther

(d) die Aufgabe des Ubersetzers (iv) Eugene Nida

(1) (@-0), b)-Gv), (-G, (D-(ii)
(2) (a)-Gi1), (b)-Gi), (©-Gv), (d-G)
(3) (a-Gv), (b)-{u), (c)-0), (-G
(4 (-0, (b)-Gi), (c)-Gii), (d—Liv)

Options:

4535094243 1
64535004244 2
64535094245 5
64535034246, 4

Question Number : 128 Question Id : 64635024011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Anordnung 1st richtig ?
(1) Eltern, Verwandte, Familie, Kinder
(2) Familie, Kinder, Verwandte, Eltern
(3) Kinder, Eltern, Familie, Verwandte
(4) Verwandte, Eltern, Familie, Kinder

Options:



EdE35094247. 1
64535094248, 2
64535094245, 3
645350394250, 4

Question Number : 128 Question 1d : 64635024011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Anordnung 1st richtig ?
(1) Eltern, Verwandte, Familie, Kinder
(2) Familie, Kinder, Verwandte, Eltern
(3) Kinder, Eltern, Familie, Verwandte
(4) Verwandte, Eltern, Familie, Kinder

Options:

64535094247, 1
64535034248, 2
64835094249 =2
4535094250 4

Question Number : 129 Question Id : 64635024012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Anordnung 1st richtig ?
(1) Roman, Versepos, Kurzgeschichte, Novelle
(2) Versepos, Roman, Novelle, Kurzgeschichte
(3) Novelle, Kurzgeschichte, Versepos, Roman
(4) Roman, Novelle, Versepos, Kurzgeschichte

Options:

64535094251, 1
64535034252 2
64835094252 =2
E4E35094254 4

Question Number : 129 Question Id : 64635024012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Anordnung 1st richtig ?

(1) Roman, Versepos, Kurzgeschichte, Novelle
(2) Versepos, Roman, Novelle, Kurzgeschichte
(3) Novelle, Kurzgeschichte, Versepos, Roman
(4) Roman, Novelle, Versepos, Kurzgeschichte

Options:
64535094251, 1
64535034252 2

645350394253, 3



EAE35094254. 4

Question Number : 130 Question Id : 64635024013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Anordnung nach der ansteigenden Bevilkerungszahl ist richtig?
(1) Polen, Deutschland, Frankreich, Osterreich
(2) Osterreich, Polen, Frankreich, Deutschland
(3) Deutschland, Frankreich, Polen, Osterreich
(4) Frankreich, Deutschland, Osterreich, Polen

Options:

64535094255, 1
64535034256, 2
E4E35094257. 2
64535094258, 4

Question Number : 130 Question Id : 64635024013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Anordnung nach der ansteigenden Bevilkerungszahl ist richtig?
(1) Polen, Deutschland, Frankreich, Osterreich
(2) Osterreich, Polen, Frankreich, Deutschland
(3) Deutschland, Frankreich, Polen, Osterreich
(4) Frankreich, Deutschland, Osterreich, Polen

Options:

64535094255, 1
64535034256, 2
64535034257, =
4835094258 4

Question Number : 131 Question Id : 64635024014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Welche Rethenfolge ist richtig ?
(1) anfahren, schalten, starten, kuppeln
(2) starten, schalten, kuppeln, anfahren
(3) anfahren, schalten, kuppeln, starten

(4) schalten, kuppeln, starten, anfahren
Options:
64635094259, 1
64635094260, 2
64635094261, 3
64635094262, 4



Question Number : 131 Question Id : 64635024014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Rethenfolge 1st richtig ?
(1) anfahren, schalten, starten, kuppeln
(2) starten, schalten, kuppeln, anfahren
(3) anfahren, schalten, kuppeln, starten
(4) schalten, kuppeln, starten, anfahren

Options:

64835094259, 1
4535094260, 2
64535094261, 5
4535024262, 4

Question Number : 132 Question Id : 64635024015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Welche Anordnung der deutschen Bundesldnder wvon Norden nach
Stiden 1st richtig ?

(1) Mecklenburg-Vorpommern, Sachsen-Anhalt, Thiiringen, Bayern

(2) Thiwingen, Sachsen-Anhalt, Bayern, Mecklenburg-Vorpommern

(3) Sachsen-Anhalt, Bayern, Mecklenburg-Vorpommern, Thiringen

(4) Mecklenburg-Vorpommern, Thiiringen, Bayern, Sachsen-Anhalt

Options:

64535094263, 1
64535094264, 2
64535094265, o
64535034266, 4

Question Number : 132 Question Id : 64635024015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Anordnung der deutschen Bundesldnder von Norden nach
Stiden 1st richtig ?

(1) Mecklenburg-Vorpommern, Sachsen-Anhalt, Thiiringen, Bayern
(2) Thiwingen, Sachsen-Anhalt, Bayern, Mecklenburg-Vorpommern
(3) Sachsen-Anhalt, Bayern, Mecklenburg-Vorpommern, Thiiringen
(4) Mecklenburg-Vorpommern, Thiringen, Bayern, Sachsen-Anhalt

Options:

E4E350942E63. 1
64535024264, 2
64535094265, o
64535034266, 4



Question Number : 133 Question Id : 64635024016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Anordnung der Stadte in der Schweiz nach der ansteigenden
Einwohnerzahl 1st richtig ?

(1) St. Gallen, Bern, Basel, Ziirich

(2) Bern, Basel, St. Gallen, Zirich

(3) Zirich, Bern, Basel, St. Gallen

(4) Ziwich, Bern, Basel, St. Gallen

Options:

E4E350942E67. 1
64535024268, 2
64535034269, =
64535034270, 4

Question Number : 133 Question 1d : 64635024016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Anordnung der Stadte in der Schweiz nach der ansteigenden
Einwohnerzahl ist richtig ?

(1) St. Gallen, Bern, Basel, Ziwrich

(2) Bern, Basel, St. Gallen, Ziwrich

(3) Zirich, Bern, Basel, St. Gallen

(4) Ziwich, Bern, Basel, St. Gallen

Options:

64535094267, 1
64535024268, 2
64535034269, =
64535034270, 4

Question Number : 134 Question 1d : 64635024017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Welche Anordnung 1st chronologisch ?
(1) Faust, West-dstlicher Divan, Die Leiden des jungen Werthers, Egmont
(2) Die Leiden des jungen Werthers, Egmont, Faust, West -gstlicher Divan
(3) Eemont, Faust, Die Leiden des jungen Werthers, West-éstlicher Divan

(4) Egmont, Faust, West-astlicher Divan, Die Leiden des jungen Werthers
Options:
42350942711
64635094272, 2
C4c25094273 2
646235094274 4



Question Number : 134 Question Id : 64635024017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Welche Anordnung 1st chronologisch ?
(1) Faust, West-dstlicher Divan, Die Leiden des jungen Werthers, Egmont
(2) Die Leiden des jungen Werthers, Egmont, Faust, West -ostlicher Divan
(3) Egmont, Faust, Die Leiden des jungen Werthers, West-ostlicher Divan

(4) Egmont, Faust, West-ostlicher Divan, Die Leiden des jungen Werthers
Options:
64635094271, 1
64635094272, 2
£4835094273. 3
6463509427 4. 4

Question Number : 135 Question Id : 64635024018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lesen Sie die folgenden als X und Y markierten Aussagen.

X Brecht verwendete in seinen Werken Figuren, die dem
Zuschauer zwiespéltig erscheinen.

i Der Zuschauer sollte sich mut denen identifizieren.

Welche von den folgenden Aussagen ist richtig ?
(1) Xund Y sind beide richtig, aber Y ist nicht die Erklarung fiwr X.
(2) X und Y sind beide richtig und Y ist die Erklarung fir X.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094275, 1
64535034276, 2
64535034277, 2
4835094278 4

Question Number : 135 Question 1d : 64635024018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lesen Sie die folgenden als X und Y markierten Aussagen.

X Brecht verwendete in seinen Werken Figuren, die dem
Zuschauer zwiespéltig erscheinen.

i Der Zuschauer sollte sich mut denen identifizieren.

Welche von den folgenden Aussagen ist richtig ?
(1) Xund Y sind beide richtig, aber Y ist nicht die Erklarung fiwr X.
(2) X und Y sind beide richtig und Y ist die Erklarung fir X.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094275, 1
64535034276, 2
64535034277, 2
4835094278 4

Question Number : 136 Question 1d : 64635024019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lesen Sie die folgenden als X und Y markierten Aussagen.

. Die Vertreter der Trummerliteratur waren meist selbst
aus dem Krieg heimgekehrt und wversuchten, ein
realistisches wund wahres Bild der Welt der

Nachkriegszeit zu zeichnen.

¥ Dabel sollte die Sprache — die 1m NS-Regime als
Ideologietrager galt — von samtlichen Floskeln der
NS-Zeit bereingt werden.

Welche von den folgenden Aussagen sind richtig ?
(1) X und Y sind beide richtig, aber X ist nicht die Erklarung fiir Y.
(2) Xund Y sind beide richtig und X ist die Erklarung fur Y.
(3) Xist richtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094279, 1
64535034280, 2
64835094281, 2
4535094282 4

Question Number : 136 Question Id : 64635024019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lesen Sie die folgenden als X und Y markierten Aussagen.

o, o Die Vertreter der Triummerliteratur waren meist selbst
aus dem Krieg heimgekehrt und wversuchten, ein
realistisches wund wahres Bild der Welt der
Nachkriegszeit zu zeichnen.

Y Dabel sollte die Sprache — die 1im NS-Regime als
Ideologietrager galt — von séamtlichen Floskeln der
NS-Zeit bereinigt werden.
Welche von den folgenden Aussagen sind richtig ?

(1) X und Y sind beide richtig, aber X ist nicht die Erklarung fir Y.

(2) X und Y sind beide richtig und X ist die Erklarung fur Y.

(3) Xist richtig, aber Y ist falsch.

(4) Xist falsch, aber Y ist richtig.

Options:

64835094279, 1
4535094280, 2
645350942581, 5
64535024282, 4

Question Number : 137 Question Id : 64635024020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lesen Sie die folgenden als X und Y markierten Aussagen.

X Die Gegenwartsliteratur i1st wielfiltie und umfasst
viele verschiedene Textsorten und Stilarten.

i Beil dem Begriff »Gegenwartsliteratur” handelt es sich
aber nicht um eine Epochenbezeichnung, sondern nur
um eine zeitliche Rahmenbezeichnung.

Welche von den folgenden Aussagen 1ad richtig ?
(1) Xist falsch, aber Y ist richtig.
(2) Xist richtig, und Y ist falsch.
(3) X und Y sind beide richtig und Y ist die Erklarung fur X.
(4) X und Y sind beide richtig, aber Y ist nicht die Erklarung firr X.
Options:
64635094283, 1
64635094284, 2

E4E35094285. 3
EAE35094286. 4

Question Number : 137 Question Id : 64635024020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lesen Sie die folgenden als X und Y markierten Aussagen.

P, 5 Die Gegenwartsliteratur i1st wielfiltie und umfasst
viele verschiedene Textsorten und Stilarten.

i Bel dem Begriff »Gegenwartshteratur” handelt es sich

aber nicht um eine Epochenbezeichnung, sondern nur
um eine zeitliche Rahmenbezeichnung.

Welche von den folgenden Aussagen 1sd richtig ?
(1) Xist falsch, aber Y ist richtig.
(2) Xist richtig, und Y ist falsch.
(3) X und Y sind beide richtig und Y ist die Erklarung fur X.
(4) X und Y sind beide richtig, aber Y ist nicht die Erklarung firr X.
Options:
646350947253 1
64535094254, 2

EdE25034285. 3
E4B25034256. 4

Question Number : 138 Question Id : 64635024021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche chronologische Anordnung der Philosophen ist richtig ?

(1) Karl Marx — Theodor Adorno — Ludwig Wittgenstein — Hegel
(2) Theodor Adorno — Hegel — Karl Marx — Ludwig Wittgenstein
(3) Hegel — Karl Marx — Ludwig Wittgenstein — Theodor Adorno

(4) Karl Marx — Ludwig Wittgenstein — Hegel — Theodor Adorno
Options:
64635094287
64535094288.
64635094289,
64635094290,

[ N

Question Number : 138 Question Id : 64635024021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche chronologische Anordnung der Philosophen ist richtig ?

(1) Karl Marx — Theodor Adorno — Ludwig Wittgenstein — Hegel
(2) Theodor Adorno — Hegel — Karl Marx — Ludwig Wittgenstein
(3) Hegel — Karl Marx — Ludwig Wittgenstein — Theodor Adorno
(4) Karl Marx — Ludwig Wittgenstein — Hegel — Theodor Adorno

Options:
64535094287, 1
64535034288, 2

64535094259, 3



E4E35094230. 4

Question Number : 139 Question Id : 64635024022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lesen Sie die folgenden als X und Y markierten Aussagen.

b, i Die Beschaftioung von ausldndischen Zwangsarbeiter
war ein sichtbares Zeichen des nationalsozialistischen
Unrechtsregimes.

| i Sie kamen iiberall - von Privathaushalten bis hin zu

den Riistungsbetrieben - zum Einsatz.

Welche von den foleenden Aussagen ist richtig ?
(1) Xund Y sind beide richtig, aber Y ist nicht die Erklarung fiir X.
(2) X und Y sind beide richtig und Y ist die Erklarung firr X.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094291, 1
64535024292 2
64535034293 =
64535034294 4

Question Number : 139 Question 1d : 64635024022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lesen Sie die folgenden als X und Y markierten Aussagen.

V. g Die Beschaftigung von ausldndischen Zwangsarbeiter
war ein sichtbares Zeichen des nationalsozialistischen
Unrechtsregimes.

h Sie kamen tiberall - von Privathaushalten bis hin zu
den Riistungsbetrieben - zum Einsatz.
Welche von den folgenden Aussagen 1st richtig ?
(1) X und Y sind beide richtig, aber Y ist nicht die Erklarung fiir X.
(2) X und Y sind beide richtig und Y ist die Erklarung fir X.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094291, 1
64535034292 2
E4E35094292. =2
64535094294, 4

Question Number : 140 Question Id : 64635024023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lesen Sie die folgenden als X und Y markierten Aussagen.

L iy Die Aufarbeitung der Gréauel des Nationalsozialismus
begann erst spédt, mit den Studentenprotesten der
68er-Generation Ende der sechziger Jahre.

§ i Man wollte zunédchst mchts wissen von den Schatten
der Vergangenheit, von Schuld und Siithne.
Welche von den folgenden Aussagen ist richtig ?
(1) X und Y sind beide richtig, aber Y ist nicht die Erklarung fir X.
(2) X und Y sind beide richtig und Y ist die Erklarung firr X.
(3) Xist richtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.
Options:
64635094295, 1
64635094296, 2

EdE25034257. 3
E4B250342598 4

Question Number : 140 Question Id : 64635024023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Lesen Sie die folgenden als X und Y markierten Aussagen.

L iy Die Aufarbeitung der Gréauel des Nationalsozialismus
begann erst spét, mit den Studentenprotesten der
68er-Generation Ende der sechziger Jahre.

e Man wollte zunachst nichts wissen von den Schatten
der Vergangenheit, von Schuld und Siihne.

Welche von den folgenden Aussagen ist richtig ?
(1) Xund Y sind beide richtig, aber Y ist nicht die Erklarung fir X.
(2) X und Y sind beide richtig und Y ist die Erklarung fir X.
(3) Xist richtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094295, 1
64535034296, 2
4835094297 2
4535094298, 4

Question Number : 141 Question Id : 64635024024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Im Roman geht es hauptsachlich um
(1) die Ausgrabung Babylons.
(2) das Leben des Archiologen Robert Koldewey.
(3) die westliche Orient-Begeisterung.
(4) die Schitze des Berliner Pergamonmuseums.

Options:

648235094299, 1
4535094200, 2
64535024201, 5
64535024202, 4

Question Number : 141 Question Id : 64635024024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Im Roman geht es hauptsachlich um
(1) die Ausgrabung Babylons.
(2) das Leben des Archéologen Robert Koldewey.
(3) die westliche Orient-Begeisterung.
(4) die Schétze des Berliner Pergamonmuseums.

Options:

E4E350942499. 1
64535024200, 2
64535024201, 5
64535034302, 4

Question Number : 142 Question Id : 64635024025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Aussagen sind richtig ?

(a) Die babylonischen Ausgrabungen erfilllten deutsche
kolonialistiche Fantasien.

(b) Der Untergang der babylonischen Zivilisation wird mit dem
bevorstehenden Krieg in Verbindung gebracht.

(c) Koldewey war von dem ‘Elektropolis’ Berlin begeistert.

(d) Berlin wird im Gegensatz zu Babylon als fortschrittliche
moderne Metropole dargestellt.

(1) a&b
(2) c&d
(3 b&ec
(4 a&ec

Options:
64535094203, 1
64535034304, 2



E4E350394205. 3
E4535094206. 4

Question Number : 142 Question Id : 64635024025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Aussagen sind richtig ?

(a) Die babylonischen Ausgrabungen erfilllten deutsche
kolonialistiche Fantasien.

(b) Der Untergang der babylonischen Zivilisation wird mit dem
bevorstehenden Krieg in Verbindung gebracht.

(c) Koldewey war von dem ‘Elektropolis’ Berlin begeistert.

(d) Berlin wird im Gegensatz zu Babylon als fortschrittliche
moderne Metropole dargestellt.

(1) a&b
(2) c&d
(3) b&ec
(4) a&ec

Options:

64535094203, 1
64535034204, 2
64535034305, =
4835094206, 4

Question Number : 143 Question 1d : 64635024026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Kreuzen Sie die richtige nachstehende Kombination an :

(a) Archéologie (1) Erfindung der neuen Medien
(b) Orient-Begeisterung (i) Wissenschaft

(c) Welteroberung (iii) antike Zivilisation

(d) Beschleunigung (iv) Kolonialismus

(1) (a)-0), (b)-(ii), (c)—(iv), (d)—Gii)
(2) (a)—Gii1), (b-Gi), (©-G), (d)-Gv)
(3) (a)-Gi), (b){iii), (c)-Gv), (d)—G)
() (a-Gv), b)), (o)-GiD), (d)—Gi)
Options:

4535094307 1

LAE2E094308. 2

64535094209, 3
645350394210, 4

Question Number : 143 Question Id : 64635024026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Kreuzen Sie die richtige nachstehende Kombination an :

(a) Archéologie (1) Erfindung der neuen Medien
(b) Orient-Begeisterung (ii) Wissenschaft

(c) Welteroberung (iii) antike Zivilisation

(d) Beschleunigung (iv) Kolonialismus

(1) (@-0), (b-Gb), (-Gv), (d)-ii)
(2) (a)—(Gii), (b)-Gi), (o), (D-v)
(3) (a)-Gi), (b)-(Gii), (©)-Gv), (d)-()
(4) (a)—Gv), b)), (O-Gii), (d-Gi)

Options:

645350943207,
E4E835094208.
4535094209,
64535094210,

o LIPS

Question Number : 144 Question Id : 64635024027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Welche Anordnung ist richtig ?

(1) Rivalitat mit England und Frankreich, Kolonialfantasien, Ausgrabung
Babylons, der Grolie Krieg

(2) Kolonialfantasien, der Grofie Krieg, Rivalitat mit England und
Frankreich, Ausgrabung Babylons

(3) Kolonialfantasien, Ausgrabung Babylons, der GroBie Krieg, Rivalitét
mit England und Frankreich

(4) Ausgrabung Babylons, Rivalitidt mit England und Frankreich, der
Grolie Krieg, Kolomalfantasien

Options:

64535094211, 1
64535034312 2
64835094212 2
64535094214, 4

Question Number : 144 Question Id : 64635024027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Anordnung 1st richtig ?

(1) Rivalitat mit England und Frankreich, Kolonialfantasien, Ausgrabung
Babylons, der Grolie Krieg

(2) Kolonialfantasien, der Grofie Krieg, Rivalitat mit England und
Frankreich, Ausgrabung Babylons

(3) Kolonialfantasien, Ausgrabung Babylons, der GroBie Krieg, Rivalitét
mit England und Frankreich

(4) Ausgrabung Babylons, Rivalitidt mit England und Frankreich, der
Grofie Krieg, Kolomalfantasien

Options:

64535094211,
64535094312,
48350943213,
4535094214,

[ N

Question Number : 145 Question Id : 64635024028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lesen Sie die folgenden als X und Y markierten Aussagen :
X “Babel” 1st ein historischer Roman.

¥ Der historische Roman behandelt ausschlieBlich
authentische historische Tatsachen.

(1) X und Y sind beide richtig und Y ist die Erklarung fur X.

(2) X und Y sind beide richtig, aber X ist nicht die Erkldarung fir Y,
(3) Xist falsch, aber Y ist richtig.

(4) Xist richtig, aber Y ist falsch.

Options:

64535094215, 1
64535024216, 2
64535034317, 2
645350343215, 4

Question Number : 145 Question 1d : 64635024028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lesen Sie die folgenden als X und Y markierten Aussagen :
Ks “Babel” ist ein historischer Roman.
¥Y: Der historische Roman behandelt ausschliefilich

authentische historische Tatsachen.
(1) X und Y sind beide richtig und Y ist die Erklarung fir X.
(2) Xund Y sind beide richtig, aber X ist nicht die Erklarung fir Y.
(3) Xist falsch, aber Y ist richtig.
(4) Xist richtig, aber Y ist falsch.



Options:

64535094215, 1
4835094216 2
4535094217, 2
64535024218, 4

Question Number : 146 Question Id : 64635024029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In dem Werk geht es hauptsachlich um :
(1) die Herkunft des Autors
(2) die Beobachtungen des Autors
(3) das Zugehorigkeitsgefithl des Autors
(4) die Wurzellosigkeit des Autors

Options:

64535094219, 1
4535094220 2
64535024321, 5
64535024322, 4

Question Number : 146 Question Id : 64635024029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In dem Werk geht es hauptsachlich um :
(1) die Herkunft des Autors
(2) die Beobachtungen des Autors
(3) das Zugehorigkeitsgefithl des Autors
(4) die Wurzellosigkeit des Autors

Options:

4635094219, 1
64535024320 2
64535034321, =
64535034322 4

Question Number : 147 Question 1d : 64635024030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Welche Aussagen sind richtig ?
(a) Fiar den Autor ist Identitat als Problem besonders wichtig.
(b) Fir den Autor sind die kulturellen Unterschiede besonders
wichtig.
(¢) Fir den Autor ist die Online-Verbindung mit anderen
besonders wichtig.

(d) Fiwr den Autor sind die alltaglichen Merkwiirdigkeiten
besonders wichtig.

(1) a&b
(2) c&d
(3) a&d
(4 b&d

Options:

64535094523 1
64535024324, 2
64535094325, o
64535034326, 4

Question Number : 147 Question Id : 64635024030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Aussagen sind richtig ?
(@) Fiwr den Autor ist Identitat als Problem besonders wichtig.

(b) Fiwr den Autor sind die kulturellen Unterschiede besonders
wichtig.

(¢) Fir den Autor ist die Online-Verbindung mit anderen
besonders wichtig.

(d) Fiwr den Autor sind die alltaglichen Merkwirdigkeiten
besonders wichtig.

(1) a&b
(2) c&d
(3 a&d
(4 b&d

Options:

645350942323, 1
64535034324 2
64535034325 2
E4E35094326. 4

Question Number : 148 Question Id : 64635024031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Kreuzen Sie die richtige nachstehende Kombination an :

(a) Mannlichkeit (1) Evangelio

(b) Luther (11) Kapitel

(¢) der Name des Autors (i11) Beobachtungen
(d) was ist uns heilig (iv) eigenartig

(1) (@-GiD), -6, (-Gv), (D-GD)
(2) (a-Gi), (b)-Gii), (-0, (d-Gv)
(3) (a-0), b)), (-Gv), (d)-ii)
(4) (a)-(1), (b)1), (e)—(ii1), (d)—Lv)

Options:

645350942327, 1
64535034328, 2
64535034329 =
4835094220 4

Question Number : 148 Question 1d : 64635024031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Kreuzen Sie die richtige nachstehende Kombination an :

(a) Mannlichkeit (1) Evangelio

(b) Luther (11) Kapitel

(¢) der Name des Autors (i11) Beobachtungen
(d) was ist uns heilig (iv) eigenartig

(1) (a-Gii), -G), ()—v), (D-Gi)
(2) (@)-Gi), (b)-Gii), (-, (D-(v)
(3) (@-0), (b)), (0-Gv), (D))
(4) (a)-(), (b)—D), (c)-Gi1), (D-w)

Options:
435094327 1

E4E3509432E8. 2
EAE350942329. 3
E4E35094220. 4

Question Number : 149 Question Id : 64635024032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Anordnung 1st richtig ?
(1) Kiel, Bolu, 27 Erfahrungen, Evangeliio
(2) Kiel, Evangeliio, Bolu, 27 Erfahrungen
(3) Bolu, Evangeliio, 27 Erfahrungen, Kiel
(4) Bolu, Kiel, Evangeliio, 27 Erfahrungen

Options:



E4E35094231. 1
64535094232, 2
64535094233, 3
645350394324, 4

Question Number : 149 Question Id : 64635024032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Welche Anordnung 1st richtig ?
(1) Kiel, Bolu, 27 Erfahrungen, Evangeliio
(2) Kiel, Evangeliio, Bolu, 27 Erfahrungen
(3) Bolu, Evangeliio, 27 Erfahrungen, Kiel
(4) Bolu, Kiel, Evangeliio, 27 Erfahrungen

Options:

64535094331, 1
E4E35094332. 2
64535094222 5
64535094224 4

Question Number : 150 Question Id : 64635024033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lesen Sie die folgenden als X und Y markierten Aussagen :

Rt Der Autor  hat keine funktomerende
Internetverbindungen.

) e Er schickt seine Texte per Fax.

Welche von den folgenden Aussagen 1st richtig ?
(1) X und Y sind beide richtig und X ist die Erklarung fir Y.
(2) X und Y sind beide richtig, aber X ist nicht die Erklarung firr Y.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

645350942335, 1
64535034336, 2
64535034337, 2
E4E350943238. 4

Question Number : 150 Question Id : 64635024033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lesen Sie die folgenden als X und Y markierten Aussagen :

X Der Autor  hat keine funktonierende
Internetverbindungen.

W Er schickt seine Texte per Fax.

Welche von den folgenden Aussagen 1st richtig ?
(1) X und Y sind beide richtig und X ist die Erklarung fiir Y.
(2) Xund Y sind beide richtig, aber X ist nicht die Erklarung firr Y.
(3) Xistrichtig, aber Y ist falsch.
(4) Xist falsch, aber Y ist richtig.

Options:

64535094235, 1
64535034336, 2
64535034337, 2
48350943238 4



